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The following table represents the percentage expenditure of the annual income of six persons
A-F on six differentitems, namely, Food, Rent, Transport, Clothes, Entertainment and Miscellaneous.
Based on the data in the table, answer the questions that follow.

Person-wise Expenditure Details

S Percentage (') Expenditure from Annual Income on
Food | Rent (Transport|Clothes [Entertainment| Miscellaneous
A |2180% | 15.0% | 184% | 125% 13.3% 19.0%
B [1720% | 18.0% | 22.6% | 15.0% 11.4% 15.8%
C | 4.0% | 163% | 148% | 11.2% 7.8% 25.9%
D | 18.0% | 195% | 15.5% | 12.0% 16.4% 18.6%
E[2020% | 164% | 17.5% | 14.0% 8.6% 23.3%
F123.60% | 185% | 16.0% | 13.8% 11.0% 17.1%

Sub questions

Question Number : 1 Question Id : 53307217277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[f the annual incomes of B and C are ¥ 432000 and ¥ 528000, respeclively, then what is the difference
between the amount spent b}f them on Transport ?

(1) T1819
() T18828
(3) T19216
() T 19488

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 53307217278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the amount of money spent on food by C and D is ¥ 144000 and ¥ 172800, respectively, then the
annual income of C is % of the annual income of D.

(1) 475
(2) 60
(3) 625
(1) 120

Options :



1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307217279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the annual income of each of C and D is T 840000, then what is the sum of the amount spent by
C on Rent and that by D on Miscellaneous items ?

(1) 288820
() 290520
(3) 293160
(4) 295700

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307217280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the monthly income of A and D are ¥ 80000 and ¥ 72000, respectively, then the amount of
money spent by A on Rent is % more than the amount spent by D on clothes.
(1) 3262

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 53307217281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If the annual income of each of the six persons is ¥ 3 lakh, then the amount of money spent on
clothes is more than ¥ 41800 by exactly persons,

(1) 2
@ 3
(3) 4
@ 5
Options :
1.1
2.2
3.3
4.4

Question Id : 53307217276 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

firet aferery # @ oiferel A-F g1 %% ot g, e, feren, ofteet @), AR @ fafay w1 fog o
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e o & e o o7 1 e (%)
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21.8% | 15.0% | 184% | 125% | 13.3% | 19.0%
172% | 18.0% | 226% | 15.0% | 114% | 15.8%

A
B
C | 4% [163% |148% | 112% | 7.8% |259%
D
E
F

e

18% |19.5% [155% | 12.0% | 164% | 18.6%
202% | 164% | 17.5% | 14.0% | 8.6% |23.3%
23.6% | 18.5% | 16.0% | 13.8% | 11.0% | 17.1%

Sub questions

Question Number : 1 Question Id : 53307217277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



7fe B 4 C %1 e AT/ FA: 432000 T 528000 % 9 376 5N 9o W o 1 T U & o
1 S o 87

(1) 1849

) T18828

(3) T19216

(4) T 19488

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 53307217278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7 C 3% D gR B R 59 T FH: T 144000 S Z 172800 % T C 3 il 1 D F1 3ffes o =
%R

(1) 475

2 60
(3) 625
() 120
Options :
1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 53307217279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7fe C SR H B el 1 fiie a7 2 840000, T C g fere R =79 7fe 47t D g fife g o
Tt 71 A fere &7

(1) 288820

(2) 290520
(3) 293160
(4) 295700
Options :
1.1

2.2



3.3
4.4

Question Number : 4 Question Id : 53307217280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7 A SR D 1 WG 9 59 T 80000 T 72000 %, T A 5 o0 W 579 TR0 D §R #9€ W o4
Tt | % ¥ g

(1) 3262

(2) 3889
(3) 36.54
(4) 34.24
Options :
1.1

2.2

3.3

4.4

Question Number : 5 Question Id : 53307217281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afe 3% el 1 4 Yo o it o T3 e R, 61 e @ -3 fove ool g el w o
T T % 41800 ¥ 31fr &7
(1)

2

T He= 2

2
G)
4

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 533072678
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 53307217282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arelationship in which aless-experienced learner acquires knowledge and skills under the guidance
of an expert is known as :

(I) Cloud computing
(2) Cognitive load
(3)

(

4)  Collective munnlogue

Cognilive apprenticeship

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 53307217282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o HalY o ST el AfemTeRl ferel oo o WY W S SR Il ATl o ¢,
FEAN ¢

(1) HMSS Fe

(2) HRIFRHE 4

(3) R F
(4) T T
Options:

1.1

2.2

3.3
4.4

Question Number : 7 Question Id : 53307217283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The contents of swayamprabha channel - 15 with the theme of ‘Capacity Building and Teacher
Education’ is provided by :

(1)  CEC, New Delhi
(2) 0T Delhi

(3) IGNOU, New Delhi
(4) 1T Kanpur

Options :
1.1



2.2
3.3
4.4

Question Number : 7 Question Id : 53307217283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR - 15 e e e Fi o s foen' ® R fowg-ang fovriea o @ frger gm0
T T W ¢ :

(1) HEd % fod

D) o &R &, feed

3) 3, % foeeh

1) 9T g & F

Options :

1.1

2.2

3.3
4.4

(
(
(

Question Number : 8 Question Id : 53307217284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the sub-types of long term memory ?
(A) Episodic memory

(B) Semantic memory

(C) Procedural memory

(D) Priming

(E) Class conditioning effects

Choose the correct answer from the options given below :

(1) (A), (B), (O, (D) and (E)

(2) (B), (D) and (E) Only

(3) (A), (B) and (C) Only

4) (©), (D) and (E) Only

Options :
1.1
2.2
3.3
4.4



Question Number : 8 Question Id : 53307217284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIEeRITeTeh Jfd & 39-9%9 © :
(A) S Tyfa

(B) =t wfa

(C) HiFaTcHF Tyfd

(D) FTEATF (T5H)

(E) ohell-3Tgeher 99

= feu T ferpedi § 9 9@ IR A =94 HIN
(1) (A), (B), (C), (D) ¥R (E)
(2) %9 (B), (D) ¥R (E)
(3) A (A), (B) R (C)
(4) Fad (C), (D) 4R (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 9 Question Id : 53307217285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A marke ting instructor wants to engage students by conduc ling live pulls during an online lecture
o ga ther instant feedback on markeh'ng sI'_rategies. Which of the fo ]lowing tools should the instructor
use for creaﬁng and displaying po]ls ?

(A) Adobe Illustrator
(B) Slido
(C) Straw Poll
(D) Camtasia

(E) Flipgrid

Choose the correct answer from the options given below :
() (A), (B) and (E) Only

(2) (A) and (D) Only

(3) (B) and (C) Only

(4 (©) (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 9 Question Id : 53307217285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feT $TCeR SFTETEH SR o SR foom Torfet 3 ait o deafors Sfgfie v e o fo e
et R (ool &1 30 fn i O e €1 T (FREH) F9 ai 3 e 0  fo
STe 1 fwafeifan & ¥ g Sy & T e e

4 fou T foedl # # Wl T T FIC
(1) @ (A), (B) ¥ (B
(2) I (4) 4R (D)
() A (B) ¥ (C)
(&) e (C), (D) 4 ()



Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307217286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

An English teacher asks students to create a multimedia presentation analysing a novel's themes,
characters, and literacy devices. Which assessment method is most suitable to check the real time
progress of students ?

(1) Authentic Assessment

2)  Summative Assessment
3

(
(
(4

)
) Norm-referenced Assessment
) Ipsative Assessment

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307217286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

) 1 5 inerh <7 fernfol 1 it e T ) o forw o € fove v & e,
o wfeferer gfl 1 faverm gffen @1 fonf @t wwifan (fom emw) wife i & o

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 53307217287 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Identify the main preoccupations of qualitative researchers.
(A) Emphasis on process

(B) Emphasis on generalization

(C) Emphasis on context

(D) Emphasis on description

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3) (A), (B) and (D) Only

4) (A), (C) and (D) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 53307217287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TUTIeHeR YEhdiaA bl THE Y- SRS 1 =4 I ;
(A) 9k T 9

(B) HIHIRIHII T &

(C) ey W ad

(D) U T Fd

= feu Tu foshedi H € Wal SO okl 997 HifaU :
(1) A (A), (B) 3R (O)

(2) &= (B), (C) ¥R (D)

(3) = (A), (B) R (D)

(4) &= (A), (O) 3 (D)

Options :

1.1

2.2

3.3
4.4



Question Number : 12 Question Id : 53307217288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Two researchers obtain similar results while investigating a problem following different
methodologies. Their measurements show :

(I) Interrater validity

(2) Convergent validity

(3) Construct validity

(4)  Test-Retest validity

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 53307217288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

< Ve Yok et wfaferdl & mem 4 foreh v o e T g frem- e o e e €|

e I 1 3

(1) & Ay dva
(2) S oo
(3) Fafifa au
(4) -G S
Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307217289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
(Abbreviations) (Meaning)
(A) ante., (I)  here and there
(B) «cf. (II) and others
(C) etal., (ITlI) compare
(D) passim: (IV) before

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(LL), (C)-(1T), (D)-~(I)
(2)  (A)-(I), (B)-(1V), (O)~(D), (D)-(ID)
(3) (A1), (B)-(l1), (C)-(IV), (D)-(I)
(4)  (A)-(I), (B)-(LI), (C)~(I), (D)-(IV)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307217289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i
Teii-1 TEt-11
(wfgrmamer ) (3ed)
(A) ante., () =@ SR a@l
(B) «cf. (1) 3 7=
(C) etal., (II1) T T
(D) passim: (V) g

= feu 7o fasredi § 9 |8 SO 1 =94 6T
(1) (A)-IV), (B)-(IIT), (O)-(10), (D)-(D)

(2) (A)-(ID), (B)~(IV), (OD), (D)-(ID)

(3) (A1), (B)-(ID), (O)-(IV), (D)-(I)

(4)  (A)-D), (B)-(L), (C)-(I), (D)-(IV)

Options :

1.1



2.2
3.3
4.4

Question Number : 14 Question Id : 53307217290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the non-probability sampling techniques :
(A) Systematic sampling
(B) Simple random sampling
(C) Snowball sampling
(D) Purposive sampling
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (C) and (D) Only
(3) (A), (©) and (D) Only
),

(4) (A), (B) and (C) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 14 Question Id : 53307217290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-gifaerar Ifa=ram dehienl =1 =199 hiTIU
(A) gHafeyd gfd=a9

(B) HHF AEI=seh Yld=m

(C) feuswr<s (HEe) Hfd=ad

(D) Higwd gfcer

= feu o faeredi # | W& IO A1 =949 HIfAT
(1) <A (A) 3R (B)

(2) 9 (C) R (D)

(3) HFA (A), (C) 3T (D)

(4) 9 (A), (B) 3R (O)



Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 53307217291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the parametric tests used for statistical analysis.

(A) ttest

(B) H-test
(C) F-test
(D) U-test

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (B) and (C) Only

(3) (C) and (D) Only

(4) (A)and (C) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 15 Question Id : 53307217291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gifersrg favem & foau 9gaa ymafas wieni #1 =99 i |
(A) F-Tdem

(B) =-TRIET

(C) TH-HIaT

(D) F-Td&

= Tou U fashedi ® © Wal SO ol 997 HifaU
(1) Faa (A) 3R (B)

(2) E (B) 3R (C)

(3) A (C) 3T (D)

(4) FEE (A) IR (C)

Options :

1.1

2.2

3.3
4.4

Question Number : 16 Question Id : 53307217292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The etic approach to communication is ____in character.
(1) Restrictive

(2) Mechanical

(3) Universal

(4) Non-cultural

Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307217292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR &F FaERIF SHhI H] WEY gl

(1) gfd=eeh

(2) AAE

(3) wrEYiEE
(4) TR-HiERfTF
Options :

1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307217293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ferdinand de Saussure’s approach to the study of signs is described as :

(1) Semiology

(2) Semantics

(3) Signification

(4) Signifying system
Options:

1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307217293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRl % A F AN W e T U % gfewm A fR yen A o s e
(1) w&o-fogm
2)  Vegeifom™

Options :
1.1
2.2
3.3



4.4

Question Number : 18 Question Id : 53307217294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Marshal McLuhan, examples of high definition media are :
(A) Speech

B) Photograph

(C) Radio

(D) Cinema

(E) Cartoon

Choose the correct answer from the npl‘inns given below :

(1) (A), (B) and (C) Only
(2)  (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4)  (A), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 53307217294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HTe Heheled & ST99R 999 TYwdl Hiear & 38R 78 €
(A) T

(B) THIERNT®

(C) e

(D) e

(E)
A1 feu T forkedi & | W&t I 1 =4 I ;
(1) Fad (A), (B) 3R Q)

(2) %A (B), (O) 3R (D)
(3) %= (C), (D) #HR (E)
(4) 9 (A), (D) IR (E)



Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 53307217295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the correct chronological order of the following :
(A) First binary computer by Britishers

(B) Printing press

(C) Plan for mechanical computer

(D) Single-screen motion picture exhibition

(E)  First public broadcast of television

Choose the correct answer from the options given below :
(1) (@A) (©), (E), (D) (B)

(2 (B), (©) (D), (E), (A)
(@) (©), (E) (A) (B), (D)
4) (D) (A), B), (O (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 53307217295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafes =1 Fresraar w2l 3H | fuffa =+
(A) fofesri gra geen fg-smeml seget

(B) Tufém ug

(C) HifFeh FH <k forT =4S

(D) TEHA-THA TIfa foeer TeeHT

(E) <fcfasH =1 9gel |refsieh JHr

9 feu o fawedi # € WE S & =99 FHi

(1) (A), (©), (B), (D) (B)
(2 (B), (O) (D), (E), (A)
@) (©), () (A), B), (D)
(4) (D) (A), (B), (O) (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 53307217296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Authors) (Concepts)
(A) Roland Barthes () Doxa
(B) Pierre Bourdieu () Hegemony
(C) Antonio Gramsci (III) Simulation
(D) Jean Baudrillard (IV) Myth

Choose the correct answer from the options given below :
(L) (A)HD), (B)-(I), (O)-(), (D)-(IV)

(2)  (A)-(1D), (B)-(IL), (C)-(1V), (D)-(I)

(3) (A)-(I), (B)~(IV), (O)-(), (D)-(L)

(4)  (A)-(IV), (B)-(D), (C)-(I), (D)~(II)

Options :

1.1
2.2



3.3
4.4

Question Number : 20 Question Id : 53307217296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tet-1 9 g1 # e wifs

eii-1 it-11

(orEeh ) ( ST )
(A) Tctve aefg () SHYR (EiET)
(B) oAy aifeg () 9= (S
(C) ufefTn urdt (D) SFHE (FagemH)
(D) S aEfgars (1v) faeres (fHe)

4= fou 7o fasredi § ¥ 98 SO 1 =94 e .
(1) (A)(I), (B)-(II), (C)~(IIL), (D)-(IV)
(2) (A1), (B)-(I1L), (C)-(IV), (D)-(I)
(3) (A1), (B)~(IV), (O)-(1), (D)-(1I)
4) (A)-(IV), (B)-(I), (C)-(L), (D)~(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307217297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A sum of money is equally divided among a number of children. Had there been 10 children less,
each would have received ¥ 5 more, and had there been 10 children more each would have received
<3 less. What is the sum of money that is distributed ?

(1) 300
(2) 600
(3) 750
(@) 900

Options :
1.1
2.2



3.3
4.4

Question Number : 21 Question Id : 53307217297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ST 1 79 e § a0 el T S R 10 9 W N, T T o 35 S T 2 o
3R 10 759 S 0 79 FOF I T3 W VW B | e TS e o a

(1) 300

(2) 600
(3) 750
(4) 900
Options :
1.1

2.2

3.3
4.4

Question Number : 22 Question Id : 53307217298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the wrong term from the given series :
125, 126, 124, 127, 123, 129

(1) 126
(2) 124
(3) 123
(4) 129
Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 53307217298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



& T4 digen § o Ted UE o1 A e |
125, 126, 124, 127, 123, 129

(1) 126

(2) 124
(3) 123
(4) 129

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307217299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the selling price of ¥ 276 results in a discount of 8% on the marked price of an item, at what price
should the item be sold to offer a discount of 13% ?

(1) 265

() 21
(3) %257
(4) 261

=y

Options:
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307217299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e forlt e 1 e FE T 8% H G2 F TROTEAEY I oA 0 T 276 %, W I W W 13%
% ¢ o1 & folt 34 Tl 1w R o= 1 =fgw ?

(1) 265

) Tl
(3) T257
(4) 261
Options :
1.1

2.2



3.3
4.4

Question Number : 24 Question Id : 53307217300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ina certain coding language, the word “TRAIN' is coded as "VPCGP, then the word PROUD’ will
be coded as :

(1) QSPVE

(2) RPQSF
(3) RQPTF
(4) RQQSE
Options :
1.1

2.2

3.3

4.4

sl

Question Number : 24 Question Id : 53307217300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e Fca 9T H, 6 ‘TRAIN' #1 'VPCGP' ¥ fed fer ST &, 9@ W% ‘PROUD’ %1 32
|
(1) QSPVE
() RPQSF
(3) RQPIF
(4) RQQSE
Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 53307217301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



7 pumps, working 10 hours a day, can empty a tank in 20 days, How many hours a day must 5
pumps operate to empty the tank in 14 days ?

(1) 20 hours

(2) 18 hours

(3) 16 hours

(4) 14 hours

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 53307217301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

77 9ot 10 52 F 0 0 o 20 fe ¥ el w S €1 o o A 14 fe o el A 2 5
T 1 FfefeA fe 5 9 O =

(1) 20%

(2) 18%

(3) 16%
(4) 4%
Options:
1.1

2.2
3.3
4.4

Question Number : 26 Question Id : 53307217302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which fallacy is committed in the following argument-“Ambassador cars have almost disappeared.
This is an ambassador car, Therefore, this car has almost disappeared” :

(I) Equivocation

(2) Fallacy of Division
(3) Hasty Generalization
(4)  Slippery Slope

Options :
1.1



2.2
3.3
4.4

Question Number : 26 Question Id : 53307217302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A1l €1 T 9 7o QI ¢ | SPaet R G T € T € | 7 U STt €| e,
T I N 9 & T 2

(1) S

(2) foe 7 3

(3) o

(4) foEeFER Bem

Options :

1.1

2.2

3.3
4.4

Question Number : 27 Question Id : 53307217303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true regarding contrary propositions ?
(A) They cannot both be true

(B) They cannot both be false

(C) They can both be false

(D) If one is true the other must be false

Choose the correct answer from the options given below :

(I) (B) and (C) Only

(2) (A), (B) and (C) Only
(3) (A), (©) and (D) Only
(4) (D) Only

Options :

1.1

2.2

3.3

4.4



Question Number : 27 Question Id : 53307217303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fre # | 3 | e faia wfaaferdi % fawa § 98 2
(A) o SHI T el & Hahd |

(B) % TMl WA el &l ekl |

(C) &Ml 319 2 Hehd © |

(D) PR U T ¢ o GO T8cd 81 =fe |

= Tou U fashedi ® © Wal SO ol 997 HifaU

(1) A (B) SR (C)

(2) ¥ (A), (B) IR (Q)

(3) ad (A), (C) ¥R (D)

(4) FEd (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 53307217304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent ?
(A) Some non-dogs are non-friendly animals

(B) Some dogs are friendly animals

(C) Some friendly animals are dogs

(D) All dogs are friendly animals

Choose the correct answer from the options given below :
(I) (B) and (C) Only

(2) (B) and (D) Only

(3) (A), (B) and (C) Only

4) (A) and (D) Only

Options:

1.1

2.2

3.3



4.4

Question Number : 28 Question Id : 53307217304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=1 feu o el §f | 9 4 afFs T8 auded €2
(A) FB R-Fal T-THEa T B & |

(B) F® T fyed e 21 ¥

(C) F= fFad SHaT Fad 81 ¢

(D) Tt Fed e SR 2 € |

= Tou U fashedi ® © Wal SO ol 997 HifaU
(1) *FA (B) 3R (C)

(2) = (B) &R (D)

(3) I (A), (B) 3R (C)

(4) A (A) 3R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 29 Question Id : 53307217305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the [U]lnwing are arranged in the order of increasing connotation ?
(1) Vertebrates, mammals, canine, labradors

q

2)  Mammals, vertebrates, canine, labradors
4) Labradors, canine, mammals, vertebrates

(
(3) Canine, labradors, mammals, vertebrates
(

Options:

1.1

2.2

3.3

4.4

Question Number : 29 Question Id : 53307217305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



=1 § & % aed onef e § eyafiym €2
(1) 9], WAL, YA, TTaUsR

(2) EHYRI, HIMEHRT, TAHME, TITSH
(3) VarE, TTEUER, TR, FEEE!
(4) TIOUER, YATEE, TN, FYE
Options :

1.1

2.2

3.3

4.4

Question Number : 30 Question Id : 53307217306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following arguments is fallacious because of the middle term being too narrow ?
(1)  All things are non-eternal because they are knowable

2
(3
(4

) Sound is eternal, because it is audible
) Fire is cold because it is substance
) Wherever there is fire, there is smoke

Options:
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307217306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e <1 Tt g W § i Ak SRieTy § ifer S HEATE 9gd Hehrdl ¢ 2
(1) |t oqu TR-9me € i o 39

() A YINea & Fifeh o 9 & |
(3) @ vfiet & it o wel €|
(4) o e off ot &, ol am g
Options :

1.1

2.2

3.3



4.4

Question Number : 31 Question Id : 53307217307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Mobile games were the first to popularize which uses an image of an actual place or
thing and adds digital information to it.

(I)  Virtual Reality

(2) Augmented Reality

(3)  Mixed Reality

(4)  Computer-Aided Design (CAD)

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307217307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AeTE el () 3 ] TG TR o1 S e et T poen o 31 Bt o
(1) o 2o

2

(3) e 2
(4)  Fop-wEen s (H TE)
Options:

1.1

2.2

3.3
4.4

Question Number : 32 Question Id : 53307217308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



An Internet standard that allows for adding media attachments to an email is called :
(1) MIME

(2) DHCP

(3) HDMI
(4) FIP
Options :
1.1

2.2

3.3
4.4

Question Number : 32 Question Id : 53307217308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

St o wife Yo el #1 o < 91 3T HHE F1 7 el S
() TaRTE

2) FwWHG
() TIE M
(4) THEAD

Options:

1.1

2.2

3.3

4.4

Question Number : 33 Question Id : 53307217309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - IL.
List - I List - II
(Malware) (Definition)
(A) Ransomware (I) Software that monitors and/or records the actions of targeted users.
(B) Spyware (I)  Asmallpiece of code that misleads users of its true intent by disguising
itself as a legitimate program and infects your computer when you
mn it
(€) Worm () Software that locks data files and demands a monetary payment in
exchange for unlocking.
(D) Trojan Horses  (IV) A piece of code that replicates itself to other devices without user
interaction
Choose the correct answer from the options given below :
(1) (M1, (BH0), (1), (DK
2) (AW, (BHIV), (CH, (KD
3) (MY (BHID, (CHI), (DM
{

@
3) (A)
() (AM), (B, (CHIV), DHI)
Options :

1.1

2.2

3.3

4.4

Question Number : 33 Question Id : 53307217309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el ¥ -1 1 e e
Tl -1l
( Wreera ) (fturer)
(A) Tamam (1) o e o en-ameel e e o siren e e o ST
(B) TR (I) %2 % U6 O TR W Wd H T o8 T % §UH G R A
SR W 2B e € 1R 9 37 g T & a1 38 W o <l ¢ |

(€ dn (I11) T W= S TS 1 Tl 0 3 T a1 el W S o T e
@l

(D) ZeHEH (V) 32 o1 U1 2o <1 ek .o o for1 o2 el 1 o a1 St
e

e o T fereredt ¥ 8 W& T A 7 H

(1) (A, B)-{), (OHLV), (DHII)
(&) (AHL), (BHLV), (CHD, DHI)
() (A, (BR(I), (CHI), (D)-(IV)
() (AHI), (BH), (CHIV), (DHI)
Options :

1.1

2.2

3.3

4.4

l)
1

Question Number : 34 Question Id : 53307217310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are advantages of e<commerce for consumers ?
(A) They save time by visiting websites instead of stores.

(B) They have little risk of having their credit card number intercepted.
(C) They can choose goods from any vendor in the world.

(D) They can shop no matter their location, time, or conditions.
Choose the correct answer from the options given below :

(1) (A) and (D) Only

(2) (B) and (C) Only

(3) (A), (C) and (D) Only

@ (), (), (O and (D)

Options :



1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 53307217310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Iqufel & o 2-anfoe & e 6 4 - g @ €7

(A) 9 THEA T H T R T S H THI H TG F &

(B) 3% AT hfee HTE AN F AW U STH 1 dgd FH @ 2 |
(C) d gl R o TRl off fashan & Wict 1 9 Hehdl & |

(D) STT T, T a1eyen feofa it off €1, 9 @der & g €

A fou o forpedi # © W SO 1 999 FHIC ;
(1) ad (A) 3R (D)
(2) e (B) 3R (C)
(3) % (A), (C) ¥R (D)
(4) (A), (B), (C) 3R (D)
Options:
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 53307217311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If (L)y; represents a number L in base-M number system, then identify the correct ascending order
of the following numbers A-D when converted to decimal number system.

(A) (102),
(B) (10001),
€ (103)
(D) (201),

Choose the correct answer from the Dptions given below :

@ () @A) © D

@ (&) © D) 6
() (A), B) (D) ©)
@ @) @), D)0
Options :

1.1

2.2

3.3

4.4

Question Number : 35 Question Id : 53307217311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A% SHR-M e Tt H, (L), A L S ¢ o 7 gemed A-D i uwer wen gt
yfeafdd T STH T 3% Fl A8 A A T A
(A) (102),

(B) (10001),

(C) (103),

(D) (201),

el few 0 el W § W@ S 01 7 HAC

) @ A () D

) (4)©), (D)

) (A), ®) (D), (©

) (B) (&), (D), (©

Options:

1.1

2.2

3.3
4.4

2
K
(4



Question Number : 36 Question Id : 53307217312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the mission of International Solar Alliance ?

(I) Every home no matter how far will have electricity

(2) Every home will harvest solar energy

(3) Every home no matter how far away will have light at home
(4) Every home has to be carbon neutral

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307217312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FHEg GR sy (Z2YAe Hier TAmey) o1 fove o= 82
(1) sk =X H Torsredl 81, o1 2 =18 Toharl ot S IR RfEed 2

(2) F® =X H ER S IR B

(3) W =X H WA B o fehal Wit g wfte B |
(4) TF T FETHER B |

Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307217313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Amount of destruction caused by an earthquake is measured by :
(1) Richter Scale

(2) Intensity Scale

(3) Magnitude Scale

(4) Mercalli Scale

Options :
1.1
2.2



3.3
4.4

Question Number : 37 Question Id : 53307217313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ey g1 gU faesy =6t A o1 o fRaes gry o < § 2

(1) Fa=t =hd g1

(2) TS ThRel g
(3) WIS Tha gH
(4) TIhell THA gA
Options :

1.1

2.2

3.3

4.4

Question Number : 38 Question Id : 53307217314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are consequences of Global Warming ?
(A) Change in Hydrological Cycle

(B) Species Migration

(C) Change in Ocean Circulation

(D) Ocean Acidification

(E) Sea level rise

Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only

(2) (A), (C) and (D) Only

(3) (B), (C) and (D) Only

(4) (A), (B), (O, (D) and (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307217314 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

frefafad § 9 ®FH-9 afvgs a9 (Telee anfeT) & afiom € 2
(A) ST =R | gfiedd

(B) irersmfcdl k1 gers

(C) THET G=or | gfiedq

(D) HHE T STFATRL

(E) HHgAe = ST i L TS

= U U fashedi ®§ € Wal SO ol 999 BT ;

(1) 9 (A), (B) 3R (E)

(2) = (A), (C) 3 (D)

(3) %dd (B), (C) ¥R (D)

4) (A, (B), (C), (D) & (E)
Options :

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 53307217315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a disease caused due to exposure of Ulira Violet (UV)-rays, one of the
Environmental hazards due to ozone layer depletion ?

(1) Melanoma
(2) Erythema
(3) Teratoma
( 4

=y

) Carcinoma

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307217315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SIS ) TR % 4T F F O T A e e (UV) R 3 e § e @ v
Tl T & /

(1) W

o dim

(3) R

(4)

Options :

1.1

2.2

3.3
4.4

Question Number : 40 Question Id : 53307217316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Because of Biochemical Oxygen Demand (BOD), Dissolved Oxygen (DO) of a water body :
(1) Increases

2
3

4) Initially increases and then decreases

(2)  Decreases

(3) Remains unchanged
(

Options:

1.1

2.2

3.3

4.4

Question Number : 40 Question Id : 53307217316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W9 T " (H-3-21) F wRo R stenvr § foei st (S-3) ¢

(1) e

() WEEmE

(3) emftafia @ g

(4) Y H 9 ¢ SN 39 9% g2 ©
Options :

1.1

2.2



3.3
4.4

Question Number : 41 Question Id : 53307217317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

An IT giant company has its Global Education Centre at :
(1) Medak

(2) Ratnagiri

(3) Mysore

(4) Agartala

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307217317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl SRt (21 &) & 1 Uk oS o 1 fvee fen $g fea ®

(2) YomffH
(3) WA
(4) FRAEn
Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 53307217318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Indian Institute of management, Indore, was set up during :
(I) Eighth five year plan

(2) Ninth five year plan

(3) Tenth five year plan

(4) Eleventh five year plan



Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 53307217318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R Wit Gee (3o SR ot e, SN, @ v fmfefen S dee de %
< 1 T 4

(1) 3Teal e A

(2) Aol Terrdta At

(3) el Tead A

(4) T Feau A

Options :

1.1

2.2

3.3
4.4

Question Number : 43 Question Id : 53307217319 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

The union government of India had in 2011 decided to establish a National Institute of Design in
the states of :

(A) Andhra Pradesh

B) Kerala

) Assam
) Goa

E) Haryana

(
(€
(D
(

Choose the correct answer from the options given below :
(I) (A), (B)and (C) Only
(2)  (B), () and (D) Only
(3) (A), (C) and (E) Only
(4) (D) and (E) Only
Options :

1.1



2.2
3.3
4.4

Question Number : 43 Question Id : 53307217319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T 1 3 W A a6 2011 ¥ freedfin R & 0 o e e W (e $RbeR o
feme) wenfi & 1 foofg fomm o2

() smen
B)
(C) KLU
(D)
(E)

7 feu o forredt # B W S W w0

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 53307217320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The New Education Policy of 2020, suggested degree courses in :
(A) Development Communication

(B) Logic

(C) Art and Museum Administration

(D) Graphic Design

(E) Web Design

Choose the correct answer from the options given below :
(1) (A), (B)and (C) Only

(2 (B), (C) and (D) Only

(3) (©), (D) and (E) Only

(4) (B), (D) and (E) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 53307217320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

% fove +fifd, 2020 ¥ Freferfas fawd # & F0 @ foft S 1 gzm fen T
(A) ToERTEIHE HER

Options :
1.1
2.2
3.3



4.4

Question Number : 45 Question Id : 53307217321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following ancient scholars was a proponent of grammarian tradition ?
(1) Ishwarkrishna

Bhartrhari
3

2
(
(4

)

) Gautama
) Kanada
Options :
1.1

2.2

3.3

4.4

Question Number : 45 Question Id : 53307217321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfes g yrdr fagrl § 9 SF-91 fogm s Wa 1 yedrEds 917
(1) SyeTgo

(2) qeR
(3) T
(4) =R
Options:
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 533072679
Question Shuffling Allowed : No

Question Id : 53307217322 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension



Read the following passage and answer the questions.

Folk traditions provide and create a public space where some broader social values could be
generated and observed. The various folk genres through the creation of public space help in
bringing and observed. The various folk genres through the creation of public space help in bringing
into focus ideas, values and contentions into public discourse, a kind of unshackling of inhibitions
in a stress-free manner. The changes that modernity brings in its wake become more socially
acceptable and the conflicts that are created find a medium through which they can be resolved.
This public space or sphere has many constructive and pleasurable uses. Politics and religion are
notable instances in which the creation and sustenance of public space or sphere is very important
to achieve some agenda(s). The dynamism ingrained in public space or sphere shows complex
nuances and many trends especially when the nature of transformation is being analysed. There
seems to be a shift from a simple pleasure orientation to cater to multi-level interests of the performers
and patrons. Transformations are influenced by economics, politics and voices of dissent that find
various mechanisms of appropriation of public space for their own objectives. They widen the
base of debate and discussion transcending the involved units,

Sub questions

Question Number : 46 Question Id : 53307217323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Role of folklore in the society is :
(1) To provide entertainment only

(2) To generate and observe broader social value
(3) To restrict public discourse

(4) To resist social change

Options :

1.1

2.2

3.3

4.4

Question Number : 47 Question Id : 53307217324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What does folklore contribute to public discourse ?
(1) It creates a public space for stress-free interaction

(2) It restricts the expression of ideas and values
(3) It promotes only traditional values

(4) It eliminates modern influences

Options :

1.1



2.2
3.3
4.4

Question Number : 48 Question Id : 53307217325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the influence of modemity on folk traditions and public space according to the text ?
(1) Folk traditions are disappearing.

(2) It has no effect on ancient tradition.

(3)  Itonly leads to conflicts without resolution,

(4) It makes social changes more acceptable.

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 53307217326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What influences the tranformations that can be observed in public sphere ?
(1) Multi-level interests of performers and patrons

(2) A static set of rules

(3) The absence of economic and philosophical ideas

(4) Simple pleasure orientation

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 53307217327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Public space :

(1) Widens the base of debate and discussion

(2) Ignores traditional knowledge system
(3) Insists more on individual growth
(4) Leads to suppression of human values

Options :



1.1
2.2
3.3
4.4

Question Id : 53307217322 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 53307217323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ToTSt T TR R i i 22

(1) Facl FARSH YSH

(2) AT WIS Hedl o gor ST Yagor
(3) ek famel o1 faefea e

(4) WrHIfSTeR Sgerre 1 Ufcie el

Options:
1.1
2.2
3.3



4.4

Question Number : 47 Question Id : 53307217324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

k-l il cireh-famel § 1 Frrere § 2

(1) 399 T aarn (Farg) o wesfer I &1 g5 o ¢
2) 7 foaarl &R gedi st sfverfs ot wfaefia a2

3)  TUY Hge YRYNE Yol 1 Hagd ol ¢ |

4) Y TR T9E 1 fae 2 2

Options:
1.1
2.2
3.3
4.4

(
(
(

Question Number : 48 Question Id : 53307217325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TSN o ST @k TRONa SR Hes Te TSR g el § 7
(1) @ik W foeqa &1 & &)

(2) ST WA ROUel R HE 39 T T

(3) T FOaEY hec HHY 39 il € SR FIe TE e €

(4) THF FerEey qrfee Ued i wied @ W €

Lad

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 53307217326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IR &5 H Siaon & 1 YT S H S € ?
(1) W<¥ERT SR E&TeRl 1 ag-&aid Afasf=ai

) Teer frammEEd

(3) enfelr SR SRR fommd =1 SvE

) M 3 SHE R

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 53307217327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

rersleh T
(1) are-faar 3R ==l % TR S SAT9F T4 ¢ |

(2) TEH YLUT AH-YOMGH Bl U i Sl & |
(3) TEH JAfadeh Tk I S{YaTeha iy o feoan S 2
(4) TTF IROTHEREY AETE Hodl i g0 el © |
Options :
1.1
2.2
3.3
4.4
Comparative Literature
SectionId: 533072228
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 533072680



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53307217328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who coined the term ‘Weltliterature’ ?
(1) Charles

(2) Goethe

(3) Waller

(4) Rene Wellek

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 53307217328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

' Feefae = v 1 fmi feraa feran ?

(1) =g
(2) T
(3) Eler
(4) T deTF
Options:

1.1

2.2

3.3

4.4

Question Number : 52 Question Id : 53307217329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who commented “Thou (Shakespeare) belongst to the world, Kalidasa to India” ?
(I) Hemachandra Vandyopadhyay

(2) Isvarchandra Vidyasagar
(3) Ram Mohan Roy
(4) Madhusudan Dutt

Options :



1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 53307217329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘9 (IFEIR) 39 gfE 6 T, wifoe YRd & gs feoqolt e @i ' 2
(1) eHe SR

2) ZvEER faRmarr
(3) mHEA A

(4) WYY =
Options :

1.1

2.2

3.3

4.4

Question Number : 53 Question Id : 53307217330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Matthew Armold, in his inaugural lecture at Oxford in 1857, suggested that :

(1)  Literature is best understood in isolation.

(2) Literature is adequately comprehended only in relation to other events and literature,
(3) Literature should be studied strictly within national boundaries.

(4) Comparative literature is a modern concept irrelevant to his time.

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 53307217330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



R 3Iee 9 1857 ¥ HFEEHE | o 3o e | ga fean &
(1) Wifee i 9o dea 314 fowai § T T T0el < 9l ¢ |

(2) wfecd 1 kel &1 fordi SR |ifecd < ey o 3fad 21 9 9w <1 € |
(3) Efecd 1 |t § UL Wi o i e R S =i

(4) TOHF Tifec T Y | ST U e sraumm §
Options :

1.1

2.2

3.3

4.4

Question Number : 54 Question Id : 53307217331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Time in literary historic period is :
(1) Diachronic

(2) Synchronic
(3) Restrictive
(4) Polychronic
Options:

1.1

2.2

3.3

4.4

Question Number : 54 Question Id : 53307217331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

aifefcrss tfqeigs 10 H 979 &

Options :
1.1
2.2
3.3



4.4

Question Number : 55 Question Id : 53307217332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who of the following don’t belong to the category of “dalit writers” ?
(A) Premchand

(B) Mahashweta Devi

(C) Urmila Pawar

(D) Baby Kamble

(E) Balbir Madhopuri

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (A) and (E) Only

(3) (B), (C) and (D) Only
(4) (A) and (B) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 55 Question Id : 53307217332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfarfiaa & § #17 ‘<fea ol F 9of § 79 o ¥ 2
(A) YHE<S

(B) HESd Qe

(C) e dar

(D) & e

() ot HErgd

= feu o fasredi § € W& SO F1 =994 i
(1) = (A), (B) 3R (O)

(2) A (A) SR (E)

(3) ad (B), (O) #R (D)

(4) A (A) TR (B)



Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307217333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following according to their birth.
(A) Gravin Douglas

(B) King James I

(C) Sir David Lindsay

(D) Robert Henryson

(E) William Dunbar

Choose the correct answer from the options given below :
(1) (A), (B), (O, (E), (D)

(2) (B), (D), (E), (A) (O

(3) (D) (C) (B), (A), (E)

(4) (A), (E), (B), (O), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307217333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



feAfafEd =61 39k S & FER FaEed 1 |
(A) U =Te™

(B) TFTSHI

(C) W efae fosy

(D) V&2 TEA

(E) Tafersm =99

= feu 7o fasredi § | W& ST 1 9949 S
(1) (A), (B), (O), (E), (D)

(2) (B), (D), (E), (A), (C

) )
(3) (D) (O (B), (A), (E)
4) (A) (E), (B), (O), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 53307217334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following books are about the sexual mores of Orient ?
(A) Del’Allemagne

(B)  The City of the Sultan and Domestic Manners of the Turks

(C) Eothen, or Traces of Travel Bought Home from the East

(D)  The Beauties of the Bosphorus

(E)  The Lustful Turks

Choose the correct answer from the options given below :

() (A), (C) and (B) Only

2) (A), (D) and (E) Only
(3) (A), (C) and (D) Only
(4) (B), (D) and (E) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 57 Question Id : 53307217334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= & 4 3 e shiftg= &% 9W e F faug § 872
(A) BT eI

(B) 7 Il 37i% § Goard UUg EiHfEew U 3 § gad
(C) 3aftem, 3% 289 3 297 sie 819 A § 3.
(D) & Z2I9 31 § ACFERY

E) T TRFT g

1 few o el § § w8 IR @ =99 HT

(1) & (A), (C) 3N (B)

(2) FAA (A), (D) R (E)

(3) aE (A), (C) R (D)

(4) %9 (B), (D) 3R (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307217335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tejaswini Niranjana criticises A.K. Ramanujan’s translation of Allama Prabhu’s short poem
“Vacana” on the ground that :

A) Ramanujan has deliberately introduced ideological distortions.

(
(B
(
(

——

Ramanujan fails to understand the economy of translation.

™

D

(E) Ramanujan’s translation disrupts the sacredness of the poem.

) Ramanujan’s representation of bhakti is essentialist Hinduism.
)

Ramanujan’s translation of the poem is highly political.

Choose the correct answer from the options given below :
() () (8)and (C) Only

() () (C) and (D) Only

(3) (C), D) and (E) Only

(4) (A), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 58 Question Id : 53307217335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ittt fe O, TR & ST 99 1 G o o F ST F ST 36 SR T
e

(A) TR A - it oo @1 T e 2

(B) T G % T o g ¥ et e €

(C)  TIer a1 i 1 e wyere: fegan €

(D) T %1 TEIATG e T &

(E)  THIe 1 S o 1 Wferaa o 7 R < &

et few T foeredl ® W S T I

Options :
1.1



2.2
3.3
4.4

Question Number : 59 Question Id : 53307217336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which are not Bengal Women's autobiographies ?

(A) My story

(B)  Janaika Grihabadhur Diary (The Diary of a Housewife)
(C) Atmacatha (An Autobiography)

(D)  Amar [iban

(E) The Prisons e Broke

Choose the correct answer from the options given below :
(1) (B) and (D) Only

(2) (A) and (C) Only

(3) (C) and (D) Only

(4) (A) and (E) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307217336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e ® @ F9 9 smelt fort it srerse €2
(A) #F =

(B) SHHI TEaYR SPRI( T ST IF 3 EHTARE)
(C)  SITHYT (CF SHitariarsT)

(D) SR Saq

(E) &g &l %

= feu o foskredi # | W&t SO & 999 Hifa
(1) = (B) 3R (D)

(2) A (A) SR (C)

(3) = (C) &R (D)

(4) FEE (A) IR (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 60 Question Id : 53307217337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List- I List - II
(Indian Languages) (Year of Publication of first novel)
(A) Marathi (I) 1866
(B) Bengali (I) 1857
(C) Malayalam () 1887
(D) Gujarati (IV) 1865
Choose the correct answer from the options given below :
(1) (AHI), B)-[IV), (C)-1), (D)}(IM)
(2) (A, (B)-(1V), (O)-(), (D)-0)
@) (AHIV), (B)-(1I), (C)-(I1I), (D)-(T)
(4)  (A(IV), (B)-(II), (OH(ID), (D)-(1)
Options :
1.1

2.2



3.3
4.4

Question Number : 60 Question Id : 53307217337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tet-14 gat-11 =1 frer s
Tl-1 -1
(VTR o) (Ve SU=ITE & WeRTYTH ohT 1Y)
(A) W&l () 1866
(B) @ (I) 1857
(C) wHerdTem () 1887
(D) T (IV) 1865
A fou Tu foeredi o § W& SR F1 79 F9C

(1) (A)-11), B)-1V), (O)-(1), (D))
2) (A1), (B)-(IV), (Q)-(), (D)-(I
3)  (A)-IV), (B)-(1), (Q)-(1), (D)-(L
1) (A

( )
( (D)-(0)
(4)  (AHIV), (B{I), (CII), (D)-()
Options :

1.1

2.2

3.3

4.4

Question Number : 61 Question Id : 53307217338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are true about secular modernity ?
(A) It derives its strength from science.

(B) Secular modernity may exist with ‘Privatized religion’.
(C) Gandhi advocated in favour of secular modernity.

(D)

D

(E)  Secular modernity alone can resolve India’s problem in its modernization project.

Dipesh Chakraborty has discussed about the discontents of secular modernity.

Choose the correct answer from the options given below :
(1) (B) (C) and (E) Only

(2) (A), (B) and (D) Only

() (C) (D) and (E) Only

(4) (A) (C) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 61 Question Id : 53307217338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et & & ey syfma o fama & 3R 3 R T9

(A) % ST iR fogm & T e &

(B) mfRYy s el e’ & Wy forp T WA €

(C) et eeireted aegfaeeen 3 vef a1 e fov

(D) 71 e A USSR F SRR W 54 g
(

E) ae YHRO4 SRR & 9 % SN i A § S o S F gHeE w
LETIE]

el few U ot © § W S 1 7 FIC

Options :
1.1
2.2



3.3
4.4

Question Number : 62 Question Id : 53307217339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What were the two primary goals of 19t century European literary historiography ?
(1) Canon formation and the promotion of oral tradition.

2) Nation-building and the documentation of author biographies.

3

4)  Presentation of folklore and chronological documentation of literacy works.

(
(3) Canon formation and nation building
(

Options :

1.1

2.2

3.3
4.4

Question Number : 62 Question Id : 53307217339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

19 = IrIat = FUE Fifefcrs sfaery orem & 31 wafis Ig5evd 9 7

(1) TR it T SR HifEes T i JiemeEA

(2) U-fHIT IR AR I SEE] 6 orEd

(3) IR SRl T SR -

(4) e o1 Tfero R Hifefcasr Haal 1 FemsH e Jored
Options :

1.1

2.2

3.3

4.4

Question Number : 63 Question Id : 53307217340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What does the concept “literary history is the history of canon formation” imply ?

(1) Literary history focuses solely on the biographics of authors.

(2) Literary history involves the selection and recognition of certain texts as authoritative.

(3) Literary history disregards the influence of cultural and social factor on literature.

(4) Literary history only documents the chronological order of published work.



Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307217340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" ifeferen 3foRra F 1 To 1 iR & R TR R © 7

(1) el i o7 &9 8 TR # Siard) R EE-HEd 7 ¢ |

(2) wfefers fery 33 ffe ol 91 TP 9 Tear i/ % w9 F 5 2
(3) el 3ferm e T Wi S FIISE FGH & F1E P SFETER H &
(4) wfefcrer Tfoem e Werv Fiod & HIETTRN 1 YeraH i ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307217341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct ?

(A) RB. Patnakar wrote the essay “The Three Alternatives”.

(B)  This essay is the first attempt to relate modern literary criticism to the native Bhasa traditions.

(C) The Pre-British Indian Literature lacks the notion of ‘Self.
(D) Marathi literature could be understood in isolation.

(E) Marathi modern poetics could be understood through the 16%-17%C Indian criticism.
Choose the correct answer from the options given below :

(I) (A), (C) and (D) Only

(2) (A), (B) and (E) Only

(3) (B), (C) and (D) Only

() (), (D)and (E) Only

Options :
1.1
2.2
3.3



4.4

Question Number : 64 Question Id : 53307217341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fwafefias 7 9 #1 & o W €2

(A) W o, TR A e g ot eenafesy forn |

(B) 7 a1 sofen fefcreh SiTeiry o1 < I O] & et T 1 9 T &
(C) wa-fofewt syl Wi ' arcH’ o 9 o A & |
(
(

D) B! Hfeferes Tl 21 3 Wifeed H T TR S S Gk o
E) ST e HA-STe 1 16 117 & eeq) 1 YT Al & e § FoE o Gk o
7 feu T forped % | W SO T e

(1) A (A), (C) ¥R (D)
(2) o (), (B) o E)
(3) ad (B), (C) ¥ (D)
(4) & (C), (D) 3 (E)
Options :

1.1

2.2

3.3

4.4

Question Number : 65 Question Id : 53307217342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.
List - I List - 11

(A) Translation as an exile (I)  Roman Jacobson
(B) Creative translation (I)  Western metaphysics
(C) Translating consciousness (L) The primacy of the source text

(D) Translation as temporal sequentiality (IV) Colonized/post colonial culture
Choose the correct answer from the options given below :

() (A, B-(), ©-1V), (D)

(2) (AL, B, ©)-{1), (D-IV)

(3) (AN, (B, (CHLV), (D))
@) (A )

{1
1)
1) (AHLV), (B)(1), (C-(LL), (D)-(1)



Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307217342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i1 ¥ -1 1 el i

A fou U femedl # 9 W& R A 5 FH
(1) (A, B)-(1), (O-IV), (D)(IL)

(2) (AL, B, (©)-(1), (D)-(IV)

() (A1), BRI, (CHIV), (D))
(4)  (AHIV), (B)-(D), (CHII), (DI
Options :

1.1

2.2

3.3

4.4

Question Number : 66 Question Id : 53307217343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The St'ud}’ of language over time is known as :
(1) Syntegmatic study

(2) Paradigmatic study
(3) Syncronic study

(4) Diachronic study
Options :

1.1

2.2



3.3
4.4

Question Number : 66 Question Id : 53307217343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OO % 1Y 9] Rl ST S ST
(1) AR Teq9H

(2) TOTSA-HrEE e
(3) Wkl 199
(4) HICTh{HE AT
Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307217344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is the first Sanskrit work made accessible to the scholars of Europe by
translation ?

(1) The Bngm Geetn

(2)  Abhijnanasakintalam
(3)  Mohamudgara

(4)  Navaratna
Options :

1.1

2.2

3.3

4.4

Question Number : 67 Question Id : 53307217344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fwferfay H & 37 9 eet W5 /T & o e 3R 30 & fagr 3 forw wga-ama o
a7

(1) g
Q) Sy
() AETm
(4) TR
Options :
1.1

2.2

3.3
4.4

Question Number : 68 Question Id : 53307217345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following characters are reflected in the character of Nana Phandnavis and Kesavastri
in K.P. Khadilkar's Saomt Madhavarao ?

(I)  Othello and lago

(2) Hamlet and lago

(3) Hamlet and Othello
(4) Macbeth and Othello

Options:
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 53307217345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1. Gfees & T o § T By o Fewe ¥ v § frefefen § 4 R A ™
yfefafiar 2t &7

(1) e o

() &R &R T

(3) TR A A

(4) 9 S S

Options :



1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307217346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which play Vijay Tendulkar has reworked on Duerrenmatt’s novel Trapps received through
Yatte's The Deadly Game ?

(1)  Kanyadaan

(2)  Sakharam Binder
(3)  The Cyclist
()

4)  Silence! The Court is n Session

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307217346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

for T forsm degereRt 3 A% % ¢ Sea 7 H Yo SN o M 79 N T # )

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 53307217347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Michael Madhusudan Dutt in his meliculously sought out characters from the Indian
Puranas parallel to the heroines of Epistulae Heroidum.

(1) Virangana

(2)  The Captive Ladie

(3)  Razia, Empress of Inde
(4)  Sermista

Options :

1.1

2.2

3.3

4.4

Question Number : 70 Question Id : 53307217347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el RYRG €1 A A T T Ul SEaH 1 A & TR A A
T %1 9 T o 2
1) g

Options:
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 53307217348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who argued in 1903 that Comparative Literature was a non-subject dismissing it as pure erudition ?
(1) Matthew Arnold

(2) Benedetto Croce

(3)  Charles Mills Gayley

(4)  Rene Wellek

Options :
1.1
2.2



3.3
4.4

Question Number : 71 Question Id : 53307217348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 1903 qererer Hifeed 1 forgs forgen s gV 30 U R fova s e on 2
(1) He oA

(2) e wH
(3) ey e Tl
(4) T 9w
Options :

1.1

2.2

3.3

4.4

Question Number : 72 Question Id : 53307217349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What did critics in the age of post-modernism continue to debate about Comparative Literature ?

(1) Importance of national literature

(2)  Relevance of study of ancient text
(3

(4

)
) The object of study and methodology in Comparative Literature
) The significance of literary award

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 53307217349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TH- ARG o 0 ¥ W A qeon Sfecd § o forma W ae-forag s 9 @ 4
(1) WM Hiew # wew

) T U9 o HH F T

) QO Tfecd § A 3w o fofy

4) e TR H TR

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307217350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who of the following does not belong to the discipline of ‘Comparative Indian Literature ?
(1) VK. Gokak
2)  Buddhadev Bose
) KM. George
)

(
(3
(4) Nissim Ezekiel

Options:
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307217350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefeiaa § | i  qormes YR |ifecd’ & fawa 9 geifa 78 €2
(1) 1. TiehmeR

(2) TN
(3) h.TH. SISl
(4) TAfsm s=hle
Options :

1.1

2.2

3.3



4.4

Question Number : 74 Question Id : 53307217351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Nyaya School does not accept one of the following as the true source of valid knowledge of the
past :

(I)  Perception

2)  Inference

(
(3)  Memory
(,

=y

) Comparison

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 53307217351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I i FwAfctfian # § Frger St o o J o o @ o 9 H Sl Tl R ¢/
(1) geefieT

(2) IHH
(3)
(4) o
Options:
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307217352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following issues has been central o the debate on ‘World literature” in recent years ?
(I)  The impact of artificial intelligence on literature

(2)  The comparison between traditional and modern poetic form

(3) The challenge of including a meaningful range of global literatures in academic world

(4)  The issue of 'race’, 'miliev’ and ‘moment’



Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307217352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁﬂﬁaﬁaaﬁﬁﬁmgmw%aﬁﬂ"ﬁwm&w'waﬁ—ﬁaﬁﬂﬁﬂm%}?
) iAW Ffgrd F1 Qe T I9E

(ﬂ*} TR SR Y FeA B & o9 qor

(3)  Deforr s H e wiec F W & F wiwlAd FA F A

(4) T (), ‘ofE’ SR e’ w5

Options :

1.1

2.2

3.3
4.4

Question Number : 76 Question Id : 53307217353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in their chronological order :

(A) International Comparative Literature Association was founded at Oxford.

(B) Department of Comparative Literature was established at Jadhavpur University.

(C) Centre for Comparative Literature was established at University of Hyderabad.

(D) The first issue of Jadhavpur Journal of Comparative Literature was published.

Choose the correct answer from the Dpl‘ians given below :

(1) (A) (@) (C) (D)
@ (@A) {B] {D),- ©
@) @) B) @A) ©
@ @) © 6) (4
Options :

1.1

2.2

3.3

4.4



Question Number : 76 Question Id : 53307217353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fefefiad &1 FTRATER SAaYd Hify :

(A) SFEE ¥ qerTicHeh Hifecd SIS §H %l HEo i % |

(B) SMaqR fovafemmer H qererss miecy fasm #1 Tar &1 78|

(C) TRER favaferred § qeras i &g &1 T i T |

(D) qorrcash Qifecd T STAQR e (UfeRT) 1 999 ek Yariiv fopan 4|
A= feu U ferredi § | W& IR 1 =4 FfSIC ;

(1) (A), (B), (C), (D)
(2) (A) (B), (D), (©)
@) (D) (B), (A) ©
@) D) (©), B) (A)
Options:

1.1

2.2

3.3

4.4

Question Number : 77 Question Id : 53307217354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is the correct order given by John B. Alphonso -Karkala in his book A
Anthology of Indian literature ?

(A) Age of Bhakti

(B) Age of Mahatmas

(C) Age of Gurus

(D) Age of Acharyas

(E)  Age of Rishis

Choose the correct answer from the options given below :

0 ) 0) @) (4) 0

O [ A 6.0
(3) ) ®) ©) &) (4)
(@ (B (C), D) (A) B
Options:

1.1



2.2
3.3
4.4

Question Number : 77 Question Id : 53307217354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et § 11 W S AP~ shiehen o1 G- T UeTersl A1t 3ea fereren § fou U i &

I

(A) 7 F1 T

(B) RS %l Fct

(C) T 1

(D) T & F

(E) it 1 %t

el few T foekedl ® ¥ W S o T I

(1) (E), (D) () (A) ©

@ () (A) @) ©) D)

(@) (D), (B) (C), (E), (A)
() (E), (C) (D), (A), (B)

Options :

1.1

2.2

3.3
4.4

)
)

Question Number : 78 Question Id : 53307217355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the fullowing are true about the Annales School of histm'iugraphy ?

(A) It focuses on the everyday lives and mentalities of ordinary people.

(B) It advocates that history must interact with other social services.

(C) It was a German school of historiography.

(D) Lucien Febver and Marc Bloch founded this school in 1929,

(E) This school supported the French doctrine of historical narrative which was the official
historical narrative.

Choose the correct answer from the options given below :

() (A),(8) and (D) Only

) (A) D) and () Only

() (C), () and (E) Only

() (B), () and (E) Only

Options:

1.1

2.2

3.3
4.4

Question Number : 78 Question Id : 53307217355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et & & 1 o 3fer- o 3 g Woer) W o A A e g

(A) 7 S Sie S HRO w1 TRl T A R e ¢

(B) % 38 W 1 T T ¢ (o 3Terd 1 51 Tl Gesl o H S e A A
(C) % 3R T 3 T 9o T ¢

(D) G Tt &I 7k it A 1929 H 7 o e i |

(E) 9 FUTE A 3R % 39 Sl gl o g f, S i et e o)
e feu o fommedt o B WE I A T o

(1) @ (), (B) & (D)

(2) % (), (D) ¥ (B

() @ (C), (D) R ()

(4) = (B), (C) 4R (E)

Options :

1.1

2.2



3.3
4.4

Question Number : 79 Question Id : 53307217356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements about Comparative Literature are true ?
(A) Comparative literature in India is linked to the rise of modern Indian nationalism.
(B)  The term ‘Comparative Literature’ in English was coined by Rene Wellek.

(C) Due to the emergence of radical literary theories, Comparative Literature departments in the
western universities suffered setbacks.

(D) Comparative literature is highly reactionary in its approach.
(E) Terry Eagleton says that English literature rode to power on the back of wartime nationalism.
Choose the correct answer from the options given below :

(1) (A),(C) and (E) Only

(2) (B), (D) and (E) Only
6) (A) (&) and (D) Only
(4) (B), (C) and (D) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 79 Question Id : 53307217356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fowafetfign o 4 F & FoH oo et & A 9§

(A) ST ¥ e Wieed e AT TR & Snfetd & 991 5o €|

(B) T et &Il W FwRfea feretar’ o i foba e

(C) ook wifefeaer fagial o anfasia & R0 Svem fovefoRerl # qemows Wied faum &
T Tl |

(D) erIeHek Wieed ST 3T H S Wiafsmarenh ¢ |

E) o) 36 %1 % ¢ o Sl Hiecd Jgamiicrd A % He et o

el feu T foehedl § ¥ WE SR h T I

(1) A (4), (C) &R (B

() 3% (B) (0) o
() 3 (), ) ¥ D)
()

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307217357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.
List - I List-11

(A) Thomas Warton (I)  History of the Poetic National Literature of the German
(B) William Von Humboldt ~ (I) Omeros

(C) Gervinus (IT) History of English Poetry

(D) Derek Walcott (IV) On the Task of the Historian

Choose the correct answer from the options given below :
(A)-I), (B}-(IV), (C)-(T), (D)-(I)

(A)-I), (B-(T), (CH(II), (D)-(IV)

(AHD), (B)-(IV), (C)-(I), D)

(A)-1), (BRI, (CH(II), (D)-(IV)

Options :

1.1

2.2



3.3
4.4

Question Number : 80 Question Id : 53307217357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tall-1 § Gelt-I1 71 fTetm 10
-1 Eeil

(A) g aed () RET & g gigete 79 fofetar & § 5~
B) fafermafeEe () R

(C) ferm () fegt it gfiere WA
(D) ST arehE (IV) 37 3 /& 3 ewlfigq
2 feu U femredi # @ WE I =4 Fifo

(1) (A, (B)-(Iv), (OHL), D)-(I)

(2)  (A)-(I), (B)-(I), (C)-(L), (D)-(IV)

(3) (A0, B}IV), (C}(II), D))

(4)  (A)-(D), (B}-(II), (O-(I), (D)-(IV)

Options :

1.1

2.2

3.3

4.4

Question Number : 81 Question Id : 53307217358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who does not belong to the group of European Indologist ?
(1) Albrecht Weber

(2) George Grierson
(3) Annie Besant

(4) Maurice Winternitz
Options :

1.1

2.2

3.3

4.4



Question Number : 81 Question Id : 53307217358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafes § 9 #1 gada sra-feemmmedl F aue 9 gafua 78 €2
(1) o dar

(2) Sl A
(3) T eE=

(4) HIF o=

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307217359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Pierre Bourdieu has defined “symbolic domination” as :

(1)  The colonized or the post-colonial's recolonization by himself.

(2)  The colonized's resistance to the colonizer's domination.

(3)  The mnability of the colonizer's to control the colonized.

(4)  The participation of the colonizer and the colonized in colonizing the non-colonized people.

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307217359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freR sy 7 fore w9 H ¢ vt snfymer’’ @6 uftfua fRn €2
(1) SufFerfigrd o1 @ gRI STR-SY(ei = THSfFaeH

(2) uferl % anfege % ia Surasiea & fady
(3)  Saforelt =1 SufHersiiepd o Fao o e
(4) TR-3ufterfrera @ & SafTorem § Suffash &R Sufasied #1 urfer

Options :
1.1



2.2
3.3
4.4

Question Number : 83 Question Id : 53307217360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Autocolonization occurs when :

(1) Colonization is dominating,.

(2) Colonization becomes hegemonic.
(3) Colonization becomes exploitative.
(4) Colonization is resisted.

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307217360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el FHAFTESeE =fed 21 8, 54
(1) 399 JYEF 2

(2) SUFEYH FeREER T € |
(3) SYFEY™ WSOrERRT &l ¥ |
(4) SufEeE 1 fade foean s 2
Options :

1.1

2.2

3.3

4.4

Question Number : 84 Question Id : 53307217361 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The term ‘Translation Studies’ was given by :
(1) Ernest Jones

(2) Max Muller

(3) James Mill

(4) Andre Lefevere

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307217361 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1) o+
(2) R qR
(3) < fAew
(4) 3 TIHfIET
Options:
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 53307217362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I

List - I List - II
(A) Gayatri C. Spivak (I)  The True Interpreter
(B) Louis Kelly (I) Living Translation
(C) Helaire Belloc (Ilf) English Translation Theory 1650-1800

) T.R. Steiner (IV) On Translation

(D

Choose the correct answer from the options given below :
(1) (A)D), (BHIV), (C)-(LI), [D)(II)

(2)  (A)(D), (B)-(I), (C(IV), (D)-(IIT)
3) (A1), B)-[), (O-(1V), (D))
(4)  (A)IV), (B)H(I), (CH(I), (D)-(II)
Options :

1.1

2.2

3.3

4.4

Question Number : 85 Question Id : 53307217362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 § gat-11 1 fFam S

-1 gEi-11
(A) T . Ta ) T3 TOR
(B) &9 ol () ferferm e
(C) TR sIelh () 3Few e 2 1650-1800
(D) 3N TR (IV) &1 2EereH
g fou o fokedi § | W S 1 999 HifAu ;
(1) (A)-(D), (B)-(IV), (C)-(III), (D)-(II)
(2)  (A)-(D), (B)-(I), (C)-(IV), (D)-(III)
3) (A0, B)-(), (O)-(IV), (D))
(4)  (A)-(IV), (B)-(IL), (C)-(I), (D)-(II)
Options :
1.1
2.2

3.3



4.4

Question Number : 86 Question Id : 53307217363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following chronologically :

(A) Reader

(B) Translator

(C) Author

(D) Recipient Author

Choose the correct answer from the options given below :

(1) (&), (B), (D), (C)

(2)  (A) (B), (O), (D)
(3)  (©), (B), (D), (A)
4) (D) (B), (©), (A)
Options :

1.1

2.2

3.3

4.4

Question Number : 86 Question Id : 53307217363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et =1 sFuTger et iy

(A) UREF

(B) AFA<H

(C) TEH

(D) WIideRdl oiE®

i feu T fospedi # ¥ We SO% 1 =9 S
(1) (A), (B), (D), (©

(2 (A), (B), (O), (D)
(3)  (©, (B), (D), (A)
4 (D) (B), (©), (A)
Options:
1.1

2.2



3.3
4.4

Question Number : 87 Question Id : 53307217364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which poem Pope gives tribute to Longinus ?
(I) “An Essay on Man”

(2) “An Essay on Criticism”

(3) “Pastorals”

(4) “Windsor Forest”

2

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 53307217364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefa | 9 form sHfaa o 99 1 ATy @ gaista st = off ?

(2) ‘'UF TH o ffefaen”
(3) TR

(4) ‘'fereEw wRE"
Options :

1.1

2.2

3.3

4.4

Question Number : 88 Question Id : 53307217365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who said the following about Aristotle ?

“He i the very Alexander of criticism, and his conquests in this field, unlike those of his pupil in
another, remain practically undestroyed, though not unextended to the present day”.

() CG.Jung

(2)  George Saintsbury

(3) Robert Spiller

(4)  Arthur Miller

Options :

1.1

2.2

3.3
4.4

Question Number : 88 Question Id : 53307217365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fohe 410 o T o 1 ¢

"9 S & T B TOAe ¢ AR 3 4§ ST o 97 & W 3 o o fada s
mﬁaatqﬂmﬁﬁf-m, 7MY e % @ el

Options:
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307217366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which book of Republic, Plato banishes all poets from his ideal state ?

(1) Book 10
(2) Book 5
(3) Book 7
(4) Book 9

Options :



1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307217366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

w3 ot ) P T () O e ) 9 e T R freffe e 37

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 53307217367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who accuses Aristotle of social snobbishness and arrogance ?
(1) Arthur Miller

(2) Jacques Lacan

(3) Herbert Grierson

(4) Matthew Arnold

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 53307217367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefeta # § forg s/eg W ST &9 § G4 3R Sieehnl 2 o SR o o1
(1) 2R fier

(2) o TEH
(3) e fooed
(4) Y TS
Options :

1.1

2.2

3.3

4.4

Question Number : 91 Question Id : 53307217368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following five sources of Sublimity in the sequence given by Longinus :
(A) Inspired emotion and strong passion

(B) Noble Diction

(C) Effect of Dignity and Elevation

(D)

(E)  Figures of speech

Capacity for great ﬂmught

Choose the correct answer from the Dplmns gwen below :

(1) ), E), (A), (©) (B)
(2) (A), (D), (B), (C) (E)
() (A) (B) D), (E) (©)
(4) (D), (A), E), (B) (©)
Options

1.1

2.2

3.3

4.4

Question Number : 91 Question Id : 53307217368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Hafcrfiel % 9= Sl 1 ArTsET % faU g W H oefierd Fife |
(A) U a1 e Yo HAYTE

(B) 3= 9T

(C) HH-HMEMRI 1 Y& Te 3144

(D) 3= faani #i &wa

(E) AR

e fou o fosredl # 9 O SO & 999 Hif ;

(1) (D), (B), (A), (), (B)

2 (A), (D), (B), (O) (B)

(3) (A), (B), (D), (E), (O)
4 (D) (A), (E), (B), (O

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 53307217369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.
List - I List - 1I
(A) Anukriti ()  Putting emphasis on the manifold ways in which meanings are
enacted in which meaning are enacted in different texts.
(B) Arthakriya (I) Interpretation based on anumana
(C) Vyaktivivekam (IIf) Inner speech
(D) Ullurai (IV) Imitation of the original
Choose the correct answer from the options given below :
(1) (AR, BRI, ©-1), O-IV)
(D) (AHIV), (BIIL), (©)-{1), OMI)
() (AHIV), (BHD), (C)(I), (DHI)
(4) (A

)
)
)
4) (A1), (B-L), (CHL), (DHIV)

(
(
(

Options :
1.1
2.2
3.3



4.4

Question Number : 92 Question Id : 53307217369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el ¥ -1 1 e e
Tl T

(A) 3 () e fafor fort  ed 1 etfvfrs o2 e a0y IR fen e €
LR () SR R A4 e w4

(C) AR (1) sfeer St (=)

(D) T (V) & F

At fou T fomedl o § W@ SR 1 9 i
(1) (M), -, C-(1), DY)
(&) (AHLV), (BI{IL), (CHD), DK()
() (AHLV), (BID), (CHI), (DHI)
(@) (AHD

)
)
)
1) (AHD, (B, (CHID, (D-1V)

(
(
(
(

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307217370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The three impediments to Sublimity are :
(A) Affection

(B) Amplitude of mind

(C) Cold pedantry

(D) Passionate intensity

(E) Sentimentality

Choose the correct answer from the options given below :
(1) (A), (B) and (O

(2 (C), (D) and (E)

(3) (B, (C) and (D)

(4) (A), (O and (E)



Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307217370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Heferdrel o feu = amemd © ¢
(A) ST

(B) HiET=R =R fa&iR

(C) TaEmEsR

(D) WIS I e

(E) HIE9dOTdn

3 faw o foeredt § ¥ W@ IR A 99 FIAC
(1) e (A), (B) 3R (C)
(2) @ (C), (D) ¥R (E)
(3) %@ (B), (C) 3R (D)
(4) %99 (A), (O) ¥R (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 94 Question Id : 53307217371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Choose the correct statements from the fa]lnwing ;
Vastu Dhvani 1s suggested by words that express another sense.

A)
B) The Dhvani theory is not an extension of the rasa theory.
) Alankara Dhvani is an imaginative thing.

D)

(

(
(C
(D) Rasa Dhvani includes not only the nine rasa but all the bhavas as well.
(E) Dr. SK. De published the whole of the Dhvanyaloka with Locana in 1940.

Choose the correct answer from the Upl'iuns given below :

(1) (B) (C) and (D)

@ (C), (D)and ()
(3 (A), (C) and (D)
(4) (A), (D) and ()
Options :

1.1

2.2

3.3

4.4

Question Number : 94 Question Id : 53307217371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

it # ¥ &) F97 1 997 Fiou

(A) T A 3 & G T o S & S 311 Yo o oI o R 0 €
(B) & fagr @ g @1 fowm 7 €1

(C) R A T FIeh a%g ¢

(D) 9 A H Faet A W & Tl g w9 ¢

(E) €. TEF T 11940 H TeH % WY [ Laerien  ertor fora |

At few T o o 9 Wl SR A1 7 FI
(1) %9 (B), (C) &R (D)

(2) % (C), (D) 4R (B)

(3) %8 (A), () R (D)

(4) e (A) (D) I (E)

Options :

1.1

2.2

3.3



4.4

Question Number : 95 Question Id : 53307217372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1I.

List -1 List - II

(Theorist) (Categories of Riti)
(A) Dandin (I)  Vaidarbhi, Gaudiya, Pancali
(B) Vamana (II) Sukumara, Vicitra, Madhyama
(C) Kuntaka (IlI) Upanagarika, Prasada, Kamala
(D) Mammata (IV) Vaidarbhi, Gaudiya

Choose the correct answer from the options given below :
(1) (A1), -, ©-(1V), (D))
(2 (A)-(IL), (B)-(I), (C)-(1V), (D)-0)
@) (A)D), (B)}-(IV), (C)-(I), (D)-(I)
4)  (A)-(IV), (B)-(I), (C)-(L), (D)-(LIT)

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 53307217372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 frer shifs .

T g1l

(FrgT=rame) @fer = gifor=)
(A) E= (1) Seoff, e, e
(B) @m™A (I1) gFAR, faf==, Aezm
(C) Feh (III) 3URTRER, THIE, i
(D) W& (V) def, e

= feu 7o fasredi § 9 98 39 1 =94 Fife
(1) (A1), (B)-(11D), (O)-(IV), (D)-(L)
(2) (A, (B)(1L), (O)-(IV), (D)-(I)
(3)  (A)-(D), (B)-(IV), (C)-(1LL), (D)-(Ir)
4) (A)-(IV), (B)-(I), (C)-(L), (D)~(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 53307217373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Instinct) (Attendant Emotion)
(A) Repugnance (I) Lomneliness
(B) Self-assertion (I)  Anger
(C) Herd (III) Disgust
(D) Combat (IV) Superiority

Choose the correct answer from the options given below :
(L) (A)HD), (B)-(I), (O)-(), (D)-(IV)
(2)  (A)-(IL), (B)~(I), (O)-(IV), (D)-(IT)
(3) (A)-(I), (B)~(IV), (O)-(D), (D)-(1)
(4)  (A)-(II), (B)~(I), (O)-(II), (D)~(IV)

Options :
1.1



2.2
3.3
4.4

Question Number : 96 Question Id : 53307217373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i
Teil-1 -1
@fa) (ferermm wra)
(A) srETfa () THTHIA
(B) EETHUA (I) I
(C) wHe/gUe (I11)  ferdferm, gfora
(D) w=d (IV) e

= feu o fawedi § 9 WE S &1 999 FI9T
(1)  (A)-(I). (B)-(II), (C)-(IL), (D)-(IV)
(2) (A, (B)-(I), (C)-(1V), (D)~(IL)
(3)  (A)-(I), (B)H(IV), (O)(1), (D)-(II)
4) (A1), (B)-(I), (C)-(1I), (D)-(IV)

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307217374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



John Dryden the neo-classical English poet and translator discussed three kinds of translation :
A) Transliteration
B

——

Metaphrase

!

) Humanisation
D) Paraphrase
E) Imitation

(
(
(
(
(

Choose the correct answer from the options given below :
(1) (A) (B) and (D)
(2) () (C)and (D)
() (B) (D)and (B
(4) (©), (D) and (E

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307217374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S BITET SUSH o 7o AT e ol STfaeeh A A TR o e T foam
(A) Zfee

Tt

Options :
1.1
2.2
3.3



4.4

Question Number : 98 Question Id : 53307217375 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Indish’, a term coined by Khushwant Singh refers to :
[
(

(C) Thenew language is used by the Indian authors to promote patriotism.

A) Itis a new language developed by authors like Raja Rao and Mulk Raj Anand.
B) It addresses the dilemma of the native authors writing in English.

(D) It advocates the total rejection of English.

(E) It advocates of the usage of Bhasha words and proverbs in English writings.
Choose the correct answer from the options given below :

1) (@) (Cand D)
@ (© (D) and (E)
(3
(

Question Number : 98 Question Id : 53307217375 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gye g g foan o wee ‘Sfew’ wora e & 1

(A) 78 T 7 o off 18 T S e AR S e gRI fas e o
(B) & 3 VI craeh! i gfaen F Welvm G & 5 S # form w E

(C) 7@ T o Reld eraaH g1 qufe 1 Wreefed et o fere 3w & o sef 2
(D) e SIS 1 qoie: TRRA 1 T A ¢

(E) 7% SIS el H U g T et o FA S qehe e ¢

e few e forpedi # 9 WE T H =77 HIC

(1) e (B) {cw"ﬁ(m
(2

3)
(

A (
F (A),
4)  Fad (A),



Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 53307217376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.
List -1 List - 11

(A) Living Translation  (I) ~ Ensuring the translation respects and preserves the cultural
nuances of the source text.

(B) Cultural Sensitivity  (I) The ongoing and dynamic process of adapting a text tofit cultural
temporal and contextual shifts.

(C) Intimate Reading ~ (III) The moral responsibility to maintain the cultural and contextual
integrity of the source text.

(D) Ethical Responsibility (IV) A detailed and nuanced reading understanding of the text’s
language culture and context.

Choose the correct answer from the Uptiuns giv en below :

(1) (AR, B, ©-{), D-IV)

(2) (A, (B)-(0, C-), D)-1V)
(3) (AL, (BHIV), (CHL), (D)-(1)
(4) (AT, (B)-(T), (CHIV), (DHI)
Options :

1.1

2.2

3.3

4.4

Question Number : 99 Question Id : 53307217376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el ¥ -1 1 e e

Tl T

(A) e I (fefam 2ivevm) () o e 3 Ot e = ufefe e € W o F
I 1 e T ¢ |

(B) WiEHfT HogHier () e fowa & wephos dfre @ Wi gaw @ e
e, T T T

() e ved (e Tfem) (1) W T A Wi T g e # A e  fo
Afee Tt

(D) e T (V) T forma ot o, gt e oo o o W ool v
1 T |

A feu o o 4 W@ S A T A

(1) (AHI), (-, ©-(), (D-1v)

() (A, (Bl (I, ©-@), D))

(3) (A, (BIIV), (CHI, (D))

() (A)MI), B)-0), (C)-(V), (D)

Options :

1.1

2.2

3.3

4.4

Question Number : 100 Question Id : 53307217377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List -1 List - 1I
(A) Barbara Johnson  (I) “Fidality is indeed the very essence of translation”.

(B) Roman Jacobson ~ (I) “He will deserve the highest praise who can convey the same
thoughts with the same graces and who, when he translates,

changes nothing but the language.

(C) William Cowper  (III) “Translation has always been the translation of meaning”

(D) Samuel Johnson (IV) “Meaning of any linguistic sign s its translation into some further,
alternative sign”.

Choose the correct answer from the options given below :

(1) (M), (BHIV), (K1), O

2 (AHI), (BHD, (O-IV), DHI)

3 (AHI, BHD, ©-1V), (DAL

#

@
() (A

() (A, B)-(), ©)-), O)-IV)
Options :

1.1

2.2

3.3

4.4

Question Number : 100 Question Id : 53307217377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el ¥ -1 1 e e
Tl T
(A) T S () A 1 WY 6 T €|
(B) A S (1) e Stk woreren W & < foe fore ) <t it & g

T T & B S TG A ¢ @ 9 o e
1 Tt T

(€ faferm (L) SFA 9< & e % S T B

(D) Hmere W (1v) ot oft s o S T S T & S iR 3 apfoh Wk
CER ]

At e T foemedt o 4 W SRR 61 9 A

(1) (AM), B)-{V), (1), PRI

D) (A, B)-1), (C-(IV), PHI)

3) (A, BHD, (OHIV), (D))

1D

@ |
G
(4) (AW, -0, (©-0), (-1
Options :

1.1

2.2

3.3

4.4

Question Number : 101 Question Id : 53307217378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The story of the beautiful Hemavati, the daughter of the [amjly priest of the Chandela, with whom
the moon god fell in love has been celebrated in the ‘Mahoba Khand" of Prithviraj Raso’. The story
is associated with which temple ?

(I) Khajuraho

(2) Konark Sun temple

(3) Dilwara group of temple
(4)  Puri temple

Options:
1.1
2.2
3.3
4.4



Question Number : 101 Question Id : 53307217378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y T RN e W vl e, o i < <ieel o e T gl T e
T o g §, o i @ i €7

(1) T

(2) e 4

(3) feemrs o i

() 5w

Options :

1.1

2.2

3.3
4.4

Question Number : 102 Question Id : 53307217379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Baba Farid the well known Sufi poet wrote his poems in which dialect ?
(1) Avadhi

(2) Haryanvi
(3) Multani
(4) Bhojpuri
Options :

1.1

2.2

3.3

4.4

Question Number : 102 Question Id : 53307217379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YA YO hfa AT Wi 3 TR el # sroet shfeamnd fowdt ® 2
(1) 1=
(2) EEt
(3) e
(4) S

Options :



1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 53307217380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the f o]lowing book is considered to be the first book to be translated from bhasha lfmguagﬂ
mto Sanskrit ?

(1)  Brihatkatha
(2)  Mahabharat
(3)  Ramayana

(4)  Buddhacharit

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 53307217380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafad § #F 9 T FaugH vl 99 ¥ H§ihd § Saed g8

(1) geqa
(2) Helqid
(3) HET
4) FsaRT
Options :

1.1

2.2

3.3

4.4

Question Number : 104 Question Id : 53307217381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What did Michel Foucault claim concerning ‘Epistemes’ ?

(1)  They form a continuous series leading to the advancement to truth over superstitions.
(2)  They are socially created realities that serve as the ground of truth for their eras.

(3)  They are discovered, not made objective

(4) They can be the basis of objective truth.

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307217381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

firet 1 3 1 e 3 fere form o 1 <pen v 2

(1) 3% T T 400 o Fio foven St el T S 1 T <1 S % |

(2) 3 IR R R AT TS e & S 5 39 7 o e 1 WA O B SR ¢
(3) T G & T A o i

(4) 3 TS T F SRR T ¢

Options:
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307217382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the study of ‘Bhasha literature’, how is Henri Lefebver's concept of the ‘everyday’ utilized.
(I) By highlighting the depiction of elites and historical themes in literature.
(2) By integrating abstract and complex form of expression into literary works.

(3) By incorporating a sense of this worldliness through the focus on ordinary and non elite
experiences,

(4) By portraying the fantastical and idealized scenarios.

Options :
1.1
2.2
3.3



4.4

Question Number : 105 Question Id : 53307217382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yo wifeed ! o st H, o et o 'wfdafen’ & fagia @ R e s foR 2
1) wifec ¥ Ufrafaes w6 vd Ay (S99 % fosie W gem e

2) vl i ord Td wwfe w9 i wfElcren s | gk w0 |

3)  HM TS SHYI SYE 1 hfed HHEEE Sayfd & T gr |

4) IR TS ARHTRT GRIA ol T |

Options :

1.1

2.2

3.3
4.4

{
(
(
(

Question Number : 106 Question Id : 53307217383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following chronologically :

(A) Krishna Charitra

(B) Brtra Samhar

(C) Comparative Grammar of Dravidian Language
(D) Durgeshnandini

(E) Dhruba Caritra

Choose the correct answer from the options given below :
(L) (E), (©) (D), (B), (A)

(2 (E), (A), (D) (B), (C)

(3) (@A) (D), (B), (O (E)

(4) (D), (B), (Q), (E), (A)

Options:
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 53307217383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fAfcfEa i FITshATER SFared shifed |
(A) Foq =R

(B) 3 HWEN

(C) wfag Yl <1 qoHcHs SRl

(D) gyt

(E) @ =i

A= feu v fasredi § 9 9 39 &1 994 Fife
(1) (E), (), (D), (B), (A)

(2) (E), (A), (D), (B). (O)

(3) (A) (D), (B), (O), (E)

(4) (D), (B), (©), (E), (A)

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307217384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the fD]lnwjng sufi poets in their ch_mnnlugica] order :
(A) Amir Khusrau

(B) Guru Nanak

(C) Baba Farid

(D) Moin-ud-din

Choose the correct answer from the options given below :

(1) (@A) ©), D) (B)

(2 (A) (D) (B) (©
(3) (D) (B), (A), (O
4) (D) (Q), (A) (B)
Options :

1.1

2.2

3.3

4.4



Question Number : 107 Question Id : 53307217384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feAfafEaa GHl Ffodl 1 FICERATTER Saferd ity |

(A) IR g

(B) & AME

(C) = HHig

(D) TIEA-35-SH

= fou U fomedi § € W@ 3¢ F 999 HifT
(1) (A) (©), (D), (B)

(2) (A), (D) (B), (©)
(3) (D), (B), (A), (©)
4) (D) (O, (A) (B)
Options :

1.1

2.2

3.3
4.4

Question Number : 108 Question Id : 53307217385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Exergue refers to :

(A) translator’s preface to specific texts.

(B) tones adopted by the translator in their translations.
(C) the debates on translation studies.

(D) tones range from apologetic to aggressively prescriptive.
(E) the controversies of translation studies.

Choose the correct answer from the options given below :
(1) (C€), (D) and (E) Only

(2) (A), (D) and (E) Only

(3) (A), (B) and (D) Only

(4) (B), (D) and (E) Only

Options :
1.1
2.2
3.3



4.4

Question Number : 108 Question Id : 53307217385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

THFITY | A €

(A) ITERF o YraekhyA § fafre foug o<
(B) TG BRI 3199 SATeNg H T =l STYAM]
(C) AR g W aR-foarg

(D) T 1 HH {H H oIk 3UAl o GIeahiv] deh
(B) e e | foemg

9 feu o fasredi § § WE IO 1 =994 SIS
(1) %9 (O), (D) 3 (E)

(2) %9 (A), (D) 3R (E)

(3) A (A), (B) 3R (D)

(4) A (B), (D) 3R (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 109 Question Id : 53307217386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the fD]lthing are true about Agha Shahid Ali's translation of Faiz Ahmed Faiz's Urdu
poetry into English ?

(A) He follows the fidelity principle of translation.

(B) He respects the aesthetic boundaries of English language.

(C) The idiom and images taken from urdu poems are mostly alien to English reader.

(D) He transforms metaphors into direct statement and disperses the precision of Ghazal Stanza.

(E) He neither appropriates urdu to meet the requirements of English, nor does he distort English

to be faithful to the urdu text.
Choose the correct answer from the options given below :
(1)  (C), (D) and (E) Only
(2) (A), (D) and (E) Only
() (8) (D) and (E) Oy
() () (8)and (C) Only
Options :
1.1
2.2

3.3
4.4

Question Number : 109 Question Id : 53307217386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fawtfefir ¥ o wiee eft 30 el e s 1 el o S 4 fobd T e for -
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Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307217387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - II
(A) Sahitya Akademi (} 1952
(B) Sangeet Natak Akademi (I)y 1959
(C) National School of Drama (I) 1954
(D) ICCR (IV) 1950

Choose the correct answer from the options given below :
(1) (A=), (B)-(11), (O)-(1), (D)-(IV)

(2) (A1), (B)-(), (O)-(L), (D)-(IV)
(3)  (A)-IV), (B)-(D), (C)-(II), (D)~(1ID)
(4)  (A)-(II), (B)~(I), (C)-(II), (D)-(IV)
Options :

1.1

2.2

3.3

4.4

Question Number : 110 Question Id : 53307217387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 frer shifs .

-1 -1
(A) wifecd sTeFgHl () 1952
(B) Ha ATeeh STHTIEHT (I) 1959
(C) U Ay fomre™ (1) 1954
(D) oM It df 3R (IV) 1950

A feu Ty ferpedi ® 9 @& IO 1 =T HIf
(1) (A)-(I), (B)~(11), (©)-(1), (D)-(V)

(2) (A1), (B)-(D), (O)-IL), (D)-(IV)
(3)  (A)-IV), (B)(D), (C)-(1L), (D)~(I1)
(4)  (A)-(), (B)-(1). (C}-(11), (D)-(1V)

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307217388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The early phase of Bodo Drama was highly influenced by :
(1) Jatra

(2) Nautanki

(3) Proscenium Theatre
(4) Parsi Theatre
Options:

1.1

2.2

3.3

4.4

Question Number : 111 Question Id : 53307217388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



arel e 1 IR =0 e g sfqgenfad o
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) A
(3) TER T

) IR T

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307217389 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the main characteristic of aesthetic modernity, according to Habermas ?
(1) A return to classical forms

(2)  The fusion of art and life

(3) The autonomy of art from social norms

(4) The politicisation of art

Options:

1.1

2.2

3.3
4.4

Question Number : 112 Question Id : 53307217389 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TIAY F AR, gregicrss Nyl =1 qea fasmar & € 2
(1) FTiEFel U1 61 G aTIH]

(2) Fen iR e F Gead

(3) wrHIfSes i | el i Wl
(4) e HT TSGR

Options :

1.1

2.2

3.3



4.4

Question Number : 113 Question Id : 53307217390 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In his influential work ‘Orientalism’, Edward Sard contends that "the orient” as depicted in western
novels, media and art work is ;

(I) a utopia which is more functional

(2) adystopianan world prone to self destruction

(3) an exotic world lost in the past

(4) the historical epoch

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 53307217390 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

O G T STl o fo TedE e A% < # § o v i, difen w
el A '3 e g

(1) e v seye (o)

(2)  e-form 1 R e fewifm gf

(3) S W A g WA

(4) e

Options :

1.1

2.2

3.3
4.4

Question Number : 114 Question Id : 53307217391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following work exemplifies Bhabha's concept of “hybridity” and “mimicry” ?
(1) George Orwell's “Shooting an Elephant”

(2) George Orwall's “Reflection on Gandhi"

(3) Gandhi's Hind Swaraj

(4)  Ambedkar's Annihilation of Caste

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307217391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frrerfetfign & & 2 @ o 3 o % e’ R @ 1 Herew i SR vinfed o ?
(1) it e i 9o T et

(2) el aifm @ ' R S e
(3) T R fe T

(4) SIS B AR A B
Options:

1.1

2.2

3.3

4.4

Question Number : 115 Question Id : 53307217392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Only dialogue, which requires critical thinking is also capable of generating critical thinking,
Without dialogue there is no communication and without communication there can be no true
education”. Who made this statement ?

(1) Antonio Gramsci in the Prison Notebooks

(2) Paul Freire in Pedagogy of the oppressed

(3) Zygmunt Bauman in Legislators and Interpreters

(4) Edward Said in Orientalism.

Options :
1.1
2.2



3.3
4.4

Question Number : 115 Question Id : 53307217392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"o W, foe foru TCTeRTeTs: fere o STavasha 2l €, e o @ S o fe
e ¢ | forT e 1% e e v ai for o & e 7 @ w7 Fom e fem?
(1) /e Fegag o TRt o

(2) Vet 3t ¢ Sy H vt

(3) IEIed U0E gevyeq W SR o

(4) = H TeTE WE

Options :

1.1

2.2

3.3
4.4

Question Number : 116 Question Id : 53307217393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following movements/revolutions in their chronological order, which brought
modernity in Europe.

(A} Renaissance

(B) Enlightenment

(C) Industrial Revolution

(D) Protestant reformation movement

(E)  French revolution

Choose the correct answer from the options given below :

() (A),©) ®) ©) E)
@ (@) 6) 0 0)E
() (A)(C), D) (E) (8)
(4)  (4), &) ) () ©

Options :
1.1
2.2
3.3
4.4

(A
(
(



Question Number : 116 Question Id : 53307217393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T snyfrd o A e SR e S #
(A) G

(1) (A) (D), B), () (E)
(2 (A),
@) (A)
4 (A)
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 53307217394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(A) Discourse () Gramsci
(B) Hegemony (II)  Althuser
(C) Ambivalence (I1I) Foncault
(D) Ideology (IV) Bhabha

Choose the correct answer from the options given below :
(1) (A)=(T), (B)-(LI), (C)~(IM), (D)-(IV)
(2)  (A)-(I), (B)-(1V), (O)~(11), (D)-(I)
(3) (A, (B)~(I), (O)-(1IV), (D)-(1I)
(4)  (A)-(I), (B)-(IV), (C)-(L), (D)-(II)

Options :
1.1



2.2
3.3
4.4

Question Number : 117 Question Id : 53307217394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i
Teii-1 TEi-11
(A) Tormed () 7w
(B) w=d (II) ATeeHET
(© 3augfa () FH!
(D) Ta=R & (IV) 11

= feu T foepedi § 9 9@ IR A =94 HIN
(1) (A)D, (B)(1D), (O)-(), (D)-(IV)
(2)  (A)-(m), (B)-(1V), (O-(1D), (D)-()
(3) (A, (B)-(1), (CO1V), (D)-(11)
4 (A)HD, (BHIV), (C)-(I), (D)-(ID)

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 53307217395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are true about Adivasi Literature ?
A)  Adivasi authors reject the division of literature into oral and written categories.

B) The concept of ‘orature’ was first proposed by Vandana Tate.

D) The Adivasi written literature in India began in 194 C.

(

(

(C) Adivasi literature includes both traditional oral and modern written works.

(

(E)  Adivasi literature is progressing and more than 100 books are published annually.

Choose the correct answer from the opticms given below :

() (A). (B), (D) Only

(@) (A), (C), (E) Only
(3)  (B) (D), (E) Only
(4 (©), (D), (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 118 Question Id : 53307217395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fcardt wiee & fowa # frefafea & 4 #9 § FoR 7@ €7
(A) STt TR Hfecd o i T fefad Sfri o faurem 91 srated #71 §
(B) @l ¢ § ey ‘sa (e Wifeed ) i e Ferafa i |

(C) enfeardt wifeey & urwfier wifee oiv sy fefaa T < afmfer €
(

(

-

D) ‘snfeardt’ ferfam Hife 1 YEeT 9IG § 1951 T H & |

E) nfeardt wifeet wft <% T & 9 afifer w9 4 100 ¥ aifersh Gk R @ €
A feu o fosred B W& SR F1 T4 Hf0

(1) % (A), () (D)

(0 @ (A) () (B

(3 % (B), (D), (E)

(4 % (C), (D) (B)

Options :

1.1

2.2

3.3



4.4

Question Number : 119 Question Id : 53307217396 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true about “translation” according to Gayatri Chakravarty
Spivak ?

A) It closely adheres to the structure and words of the source text.

B) It often results in awkward or unnatural language in Target text.

(
(
(C) It enhances the cultural nuances and readability of the target text.
(D) It can make the translation less accessible to readers.

(

E) Itis ahighly recommended approach for a literary translation.
Choose the correct answer from the options given below :

() (4)(D), (8 Only

) (A), (), (D) Only

3)  (8), (C), (D) Only

@ |
3 ®). ()

(4) (8), (D) (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 119 Question Id : 53307217396 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fretferfas o § S § FoA T T fore F R ' gy 3 e f v €
(A) 7 T A F T SR ) e W &

(B) e STHER TeA WA W S Si SAF T Mo % w9 ¥ 9w g €|

(C) T fea T F TieHfod e oI et 1 HadH # g
(D
{

S

) T TR H TG § A T H THA &

E) % Wifefci SaTs 1 &fd Sigd 39 ¢ |
A4 fou o fasredi # B 9@ SO F 994 FiWC
(1) 5@ (A), (D), ()
() 5 (A), (B), (D)
(3) 5 (B), (C), (D)
(4) 3 (B), (D), (B)
Options :
1.1
2.2

3.3
4.4

/
[}

Question Number : 120 Question Id : 53307217397 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(A) Vasti (I) Odia
(B) Joothan (II) Tamil
(C) Karukku (III) Hindi
(D) Bheda (IV) Marathi

Choose the correct answer from the Dpl‘inns given below :

(1) (AHIV), (B)-(IIL), (O)-(1), (D)-(I)

(2 (AIV), (B)-(1), (C)-(I), (D)-(I)
(3) (AL, (B)-(ILL), (C)-(L), (D)-(IV)
(4) (A)-(), (B)-(IV), (C)-(ILI), (D)-(L)
Options :

1.1

2.2

3.3



4.4

Question Number : 120 Question Id : 53307217397 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 frer shifs .

-1 -1
(A) F= @ =fem
(B) T () amE
(C) FEFF ({n et
(D) 9% (IV) =

A feu Ty ferpedi ® 9 @& IO 1 =T S
(1) (AHIV), (B)(IL), (O)-(1), (D)-(D)
(2)  (AHIV), (B)-(D), (C)-(11), (D))
(3) (A1), (B)-(I), (C(I), (D)-(IV)
(4) (A1), (B)-IV), (C)-I), (D)-(ID)

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307217398 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a valid generic marker of Novel ?
(1) Episodic structure

(2) Poetic language

(3)  Realistic description

(4) Extended narrative

Options:
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307217398 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

frefafaa § 9 59 91 STIE 1 UF S WHFT Tehas el & 2
(1) SUTAFCHE AT

(2) TR T
(3) Fundarer faarn
(4) Torkgd smeH

Options :

1.1

2.2

3.3

4.4

Question Number : 122 Question Id : 53307217399 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a literary work, a formal and sustained elaboration of a vehicle far beyond its fenor is known as:

Hyperbol

Epic simile

)
) Metaphor
)
)

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307217399 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e Wiefereh T W o S 1 T ST § W Feh S e o e € ;
(1) 3

2) ®IF

(3) et

(4) forem 370

Options :

1.1

2.2



3.3
4.4

Question Number : 123 Question Id : 53307217400 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not true about Epic Theatre ?

(1) It aims at the alienation effects.

(2) The term was coined by Bertolt Brecht.

(3) Itis held opposite to bourgeois realism.

(4) It was basically meant for the dramatic presentation of epics.

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307217400 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Herkred T & ey W fefafaa § 9 9 @ e T8 %2
(1) T2 Ufed v & 99E | A8 Fda € |

(2) H UIIeh ves seioe s g HfHa gat o

(3) IE TSN AeNefare F fauia W ST €

(4) TE U ®Y H HeRheAl i Aeehd TEid o forg o |

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307217401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statement is not true about Sanskrit Plays ?
(1) These plays are mostly idealistic and romantic in nature.

(2)  The major thrust is given on the potrayal of sentiments.

(3) These plays focus on the depiction of individualised characters.
(4) The dramatic characters are mostly stereotypes or set types.



Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307217401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa wuml o dera 9ea & o o 9o 72 &2

(1) e ¥ 9 W STeyEne ud Udifes e & |

(2) wETE B S wE W) fawy 79 foar s €

(3) A e AT 9 2Rl g9 I HEAd: HiRH d © |
(4) T U fHETR T2 TR A1 F@Td B8 © |

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307217402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statement is not true about Expressionism ?
(I) It emerged in [taly.

(2) Its precursors were artists and writers.

(3) It was a revolt against Realism.

(4) It was based on the exaggeration and distortion of the objects.

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307217402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TRt & fou frefafea § #m-o1 Fum ooy 78 £ 2
(1) 39 359 32ell | g1 2

) TH%F Yo ATSh R U6 @k 9 |
(3) ¥ AgieER F faws wF foeie §

) T8 aEdfad & srfaerdiad Te faeed 9 s 9 |

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307217403 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following genres in the ascending order of their evolution in the course of history.
(A) Biography

(B) Drama

(C) Epic

(D) Novel

Choose the correct answer from the options given below :

(L) (A) 6)(©) D)

Options:
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307217403 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafed famst 1 sfaer Fi ufewn # 37 Sefakm & SRE F9 5 oy FIfav)|
(A) S

(B) ek

(C) ek

(D) 9=

= feu mu fomed o 9 W SR F T Fifw

(1) (A) (B), (©) (D)

Question Number : 127 Question Id : 53307217404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in the ascending order of the evolution of these literary genres.

(A) Gothic Novel

(B) Historical Novel
(C) Pastoral Romance
(D) Metafiction

Choose the correct answer from the Dptiuns given below :

() (A), ), ©) D)

Options:
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 53307217404 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

frfeifea =1 Arfefcass &4 § 37k IS o SIIEl A | Fafeed Hifs |
(A) TiiferR ST=I9

(B) Uftelaer 3T

(C) T IWIY (F2Re)
(D) sifeRkeqar (Werfranm)
A fau o forpedl # | W ST 1 99 FHif
(1) (A), (B), (O), (D)
2) (A), (©), (B), (D)
(3) (D) (B), ©), (A)

4) (©), (A), (B), (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 53307217405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the fullowing statements are true about Tragedy l

(A) Itis a dramatic representation of serious action which eventuates in disastrous conclusion
for the protagonist.

(B) Itis an imitation of an action that is serious and also complete in itself.
(C) The tragic hero evokes pity and fear because of his outright goodness.

(D) The catharsis takes place because of the protagonist’s partially good and partially bad
behaviour.

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (A),(C) and (D) Only
(3) (A), (B)and (D) Only
(4)  (B), (C) and (D) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 128 Question Id : 53307217405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefferfas & @ 3 4 Fo o & o f v €2

(A) T TR e o1 o WRYH & S T A o S GHIH o IR 7 e ¢ |
(B) % o o a1 o SN &, S R B € SR ot oy # ol oft e B

(C) SSTEt 1 T U SR o FRO O I A B

(D) W@ A & S € § 3T o S T F TR F FH0 5T B ¢

= feu o fomed o @ W S T Hif
(1) %8 (4), (B) 4R (C)

(2) 9 (A), (C) ¥R (D)

(3) %9 (A), (B) AR (D)

(4) =@ (B), (C) 3R (D)

Options :

1.1

2.2

3.3

4.4

Question Number : 129 Question Id : 53307217406 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true about epic ?
(A) An epic is a heroic poem.

(B) Itisa long narrative on a serious subject.

(C) Itis told in elevated but unconventional style.

(D) Its action involves super human deeds in battle.
Choose the correct answer from the options given below :
(I) (A), (B) and (C) Only

(2) (A), (B) and (D) Only

(3) (A), (C) and (D) Only

4) (B), (C) and (D) Only

Options :
1.1



2.2
3.3
4.4

Question Number : 129 Question Id : 53307217406 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa § | 8 e Heredresd o 9 | 98 © 2
(A) WeTRA Ush Jifad Hfad e |

(B) IE U TR fowd Ug Wek el S ¥ |
(C) 98 3+, Tfeh STIeafier el § el I ¢ |
(D) =T fman # g5 o memmet i wfimfed €
== feu U ferredi § € W& IO I I HifaC :
(1) & (A), (B) R (C)

(2) EE (A), (B) 3R (D)

(3) &= (A), (O) IR (D)

(4) %Fad (B), (C) 3 (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 130 Question Id : 53307217407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II on the basis of notion of genre in the course of history.
List - I List - II
(A) Types of art and literature differentiated on the basis () Modemn
of medium, object and mode of presentation
(B) The proposed rules that specify the subject matter, style (I)  Classic
and emotional effect proper to each kind
(C) A setof constitutive conventions and codes, altering from  (Il[) Neo-classic
age, but shared by a kind of implicit contract between
writer and reader
(D) No essential defining features, but a set of family (IV) Structuralist
resemblances
Choose the correct answer from the options given below :
(1) (AM{D) (B, (CH{I), (DY)
@) (AHI, B-, ©-QV), (D}
(3) (A, B)-(D), (CHIV), (D}I)
(4 (AHIV), (BH), (AT, (D)-0)
Options:
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307217407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tell-1 9 G-I 1 fiver #ifa

Teft-1 Tl-11

(A) WEfd % "R, TG SR A & STHR (I enyfe
R fadfed ser a91 Wifed & TR

(B) wedifad oW, S Yeiek WehR o i fora o, (I)  amfge!
Heft 3T T 4 T 2 T &

(C) HoIeH WES AR HIE F Tk G, & T § (Ill) o~ Ferrrershi
THL FI 7 Tiafda Bid €, ferd eids i
& o a9 Hioa] % T I H1g L ¢ |

(D) #FE sTavge wRfue favmamd =&, afe (IV) TR
aTfter THETast i T T |

A feu U fowedl ® 9 WE S F 99 Fif0

(1) (A0, B)-(L), (©)-(), (D)-(IV)

(2) (A1), B)-(L), ©)-1V), (D)-1)
(3) (A, (B)-(1), (C-1V), (D)-(I)
(4)  (A(IV), (B(II), (CHID), (D)-(I)

Options :

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 53307217408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the fDlluwing film adaptatinns of Shakespeare's pla}fs in Hindi Cinema in chmnologically
ascendjng order of their pmduction.

(A} Omkara
(B) Huider
(C)  Maghool
(D) Angoor
Choose the correct answer from the options given below :

(1) (@), 6)©) [0

() (©), (D) (A) ®)
(3 ) (©) B), (A
(4 (@) (©(A) B
Options :

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 53307217408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fefan el o Sl & Fedl 1 fet Forn § SRR 1 3 T & HmATER
A I ;

(A) R

B) &

(C) #eqel

(D) &R

e fow T feered & 4 WE T A1 799 0

(1) (A) @) (C) (D)

2 (©), (D), (&) B)
() [©)(C), ®) (A)
(@) D) (), @A) ®)
Options :

1.1

2.2

3.3
4.4



Question Number : 132 Question Id : 53307217409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following books by Linda Hutcheon in the chronologically ascending order of their
publication :

(A) A Theory of Parody

(B) A Theory of Adaptation

(C) A Poetics of Post modermism

(D)  The Politics of Post modernism

Choose the correct answer from the options given below :
M (A6 00

O ®).0 6

() ®) (©) D) (&)

@) (© D) @) @)

Options :

1.1

2.2

3.3
4.4

Question Number : 132 Question Id : 53307217409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oo 1 ot o 51 T S S S g e e Hi
(A) Weqd % 5 (A Theory of Parody)
(B) @ 1 FUST (A Theory of Adaptation)
(C) 3SW Wﬂﬁw oI I (A Poetics of Post modernism )
) SW Wﬁﬁm EARIEI( (The Politics of Post modernism)
A fau Tu fosredi o ¥ W@t SO 1 79 HifC
(1) (4), ®), (©) (D)

) (A), ©), (D) (B)
) (B) () (D), (A)
4 (©) (D), (A) (B)
Options :

1.1

2.2



3.3
4.4

Question Number : 133 Question Id : 53307217410 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true about Ferdinand de Saussure’s theory of language ?

(A) The relation between signifier and signified is fixed.

(B) The relation between signifier and signified is arbitrary.
(C) The meaning is denotative.

(D) The meaning is relational,

Choose the correct answer from the Dptlnns given below :

(1) (A)and (C) Only

(2) (B) and (D) Only

(3 (A),(C) and (D) Only
4) (B), (C) and (D) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 133 Question Id : 53307217410 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfiad # wfears < FeL o T fogid & a1 H % 9 697 T 87
(A) FerrIERR wE fareee & we gy fAfved T
(B) forHIwmR IR faieEe & 7y oy g ¢

)

(C) TTH A TIF T

(D) ST 3% TALHF & |

9 fou v fasredi o © Wf IO F =FIA FifoC
(1) = (A) 3R (C)

(2) %99 (B) SR (D)

(3) %= (A), (O) ¥R (D)

(4) %= (B), (C) ¥R (D)

Options :



1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 53307217411 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true about Parody ?

(A) It is a mocking imitation of a literary work.

(B) Itis an exaggerated mimicry of the stylistic habits of an author.
(C) It was imitation as a form of flattery.

(D) It is synonymous to pastiche.

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (A), (B) and (C) Only
(3) (B) and (C) Only

(4) (B), (C) and (D) Only
Options:

1.1

2.2

3.3

4.4

:No

Question Number : 134 Question Id : 53307217411 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0



Yol & Tl H -1 Y9 T § ?

(A) T2 UF Afefers Frd 1 SR STH €

(B) IE iEeh % Yl U1 ST ki Tk Afqudriad gof F&rT ¢ |
(C) e =9edl & &9 FI eTFa % 9 § 74+ €
(D) I8 T2 (pastiche) 1 THMIE T |

= feu v fasredi § 9 9 3O & =994 i

(1) 9 (A) 3R (B)

(2) 94 (A), (B) 3R ()

(3) 9 (B) 3R (C)

(4) e (B), (C) R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307217412 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.
List - I List - II

(A) The elements which lie on the threshold of the text and helpto  (I)  Transtext
direct and control the relationship of a text by its readers

(B) A variable structure composed of block of text and the electronic  (I) Metatext
links that join them

(C) An element that unites a given text to another, of which it speaks (IlI) Hypertext
without necessarily citing or naming it

(D) The elements that set the text in relationship, whether obvious or  (IV) Paratext
concealed with other text

Choose the correct answer from the options given below :

(1) (AHD, (BHL), (CHI), (D}-IV)

() (AHL), @)1, ©-1V), (-0
() (AMII), (BHIV), (CHD, (D))
(4) (AHLV), (B)I), (CHT), (D))

Options :



1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307217412 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 8 gE-11 1 fem s
Tl TH-11

(A) 9 9 fo9g 1 <REllsl W 6T B H A A kW@ () TR
GRELERCER: R Fpe A A

(B) 2 R 1 &l U WEiaIg HUE SR 3 gt el feiek (1) Wereae

(C) e s = forelt fou MU 718 1 g W8 @ e ¢ o foww am A o (1) amweaR
feref 3eT 1 1 % A €

(D) o 9 S T2 A SRR BT Y FRH R R A T MW AR R (IV) T

A fou o fowredi o @ Wl SR F T

(1) (AL, (B)-(I), (O-(Im), (D)-(V)

(2) (AL, B)-I), ©-Iv), (O)-[)

(3)  (AII), (BHIV), (CH1), D)-(I

(4)  (AHIV), (B)-(IID), (CH(L), (D)-()

Options :

1.1

2.2

3.3

4.4

Question Number : 136 Question Id : 53307217413 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who made the following remark about biography ? “Any life, however insignificant would, if
truthfully told, be of interest is sound enough”.

(1) ST Coleridge

(2) William Blake

(3) John Keats

(4) LA Richards

Options:



1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 53307217413 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et o e o fer foqult ot 7 2B ft e, 7Y 7% WUl el €, AfUg Heey © il ST, e
! T e

(1) T e

2) fafaunm
(%)

(4 aréqﬁﬂéﬂ
Options :

1.1

2.2

3.3
4.4

Question Number : 137 Question Id : 53307217414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following stages of plot development in the order suggested in Sanskrit Dramaturgy ?

(A) arambha (beginning)

(B) phelagam (attainment of goal

(C) niyatepti (certainity of success)

(D) preplysha (possibility of success in the face of obstacles)

(E) Prayta (determined efforts)

Choose the correct answer from the options given below :

(A), (B), ©), (D), (E)

A), (), (), (), (B

A), (D), (B), (C), (B
), (©), (D), (E), (B

Options :

1.1

2.2

3.3

2
3
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@ )
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4.4

Question Number : 137 Question Id : 53307217414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ffafen ¥ & Fume & faamg 91 fafie srrenel #1 v Toase gm Wt #9 ¥ srafen

i

(A) 3T

(B) el

(C) T
(D) ARl

E) e
%ﬁqwﬁﬁfﬁﬁa@mmwaﬂm:

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307217415 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the fullowings are true about archetypes ?

(A) They are recurrent narrative design, patterns of actions, character types and images in
literature, myths and social rituals

(B) They are the elemental and universal forms and patterns in human psyche

(C) They are the Primordial images" and ‘psychic residue” of the repeated patterns of common
human experience of our ancestors

(D) They are part of our “collective consciousness” of the contemporary society received from
our ancestors

Choose the correct answer from the options given below :
() () (8)and (C) Only

(2) (A), (B) and (D) Only

(3) (A),(C) and (D) Only

(4) (), (€) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 138 Question Id : 53307217415 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) 3 31 ot feraeomones e, =7 o e, e 3 0l el frer oo wmifrr i o
el

(B) 2 W Wt W afta T ST w9 o e A €

(C) 7R S % R W SE R T S A e o e e v e s
ik

(D) TR GofST W GATC A o e e S ¢

el few U ot © § W S 1 7 FIC

Options :
1.1



2.2
3.3
4.4

Question Number : 139 Question Id : 53307217416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following can be considered as the valid markers of the category of literary writings/

literature ?

(A) Organised expression in the medium of language

(B) Fictionality

(C) Historical tenability

(D) Creative invention with aesthetic distance

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

) (A) () and (D) Only
(3) (A), (C) and (D) Only
(4) (B), (C) and (D) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 139 Question Id : 53307217416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



freferfia o fordr afeleres ol & 94 D & €9 o AT 1 Gehat &2
(A) 91 % Hey ¥ Hrifed sfveafam

(B)  RIEHIeRdl

C) Uferraes deemma

(D) Tr<dWe HAHSE =T

= fou mu fasred § @ W@ IO F FIH FHifoU

(1) %Fad (A), (B) 3R (O

(2) @ (A), {B)Bﬂw)

(3) d (A), () I (D

(4) %94 (B), (C {)sﬂum

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307217417 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I On the basis of school of literary criticism borrowed from original
disciplines :

List - I List - 11
(A) Deconstruction ()  Anthropology
(B) Structuralism (I) History
(C) Cultural Materialism (IIl) Linguistics
(D)  Archetypal Criticism (IV) Philosophy
Choose the correct answer from the options given below :
(1
(2
(3
(4

(AHD), (BRI, (©)-{I), (D}-V)
AHIV), (BHIL), (O, (D)-()

)
) (AH

) (A1), B)-), (-, (DHLV)
) (AR, (BI) (CHI), D)-(1V)
Options :

1.1

2.2

3.3



4.4

Question Number : 140 Question Id : 53307217417 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 frer shifs .

-1 GE-11
(A) fesezamH () w= fasmE
(B) H{=AMETE () sfaem™
(C) Wirfas Aifaes are (II1) Tt
(D) feRarEael SATetr=r (1IV) <

A= feu v fasredi § 9 9 39 &1 994 Fife
(1) (A)D), (B)-(II), (O)~(1), (D)-(IV)

(2)  (A)-IV), (B)-(II), (O)-(1D), (D)-(D)

(3) (A1, (B)-(), (©)-(I), (D)-(IV)

(4)  (A)-(IM), (B)~(D), (C)-(II), (D)-(IV)
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 533072681
Question Shuffling Allowed : No

Question Id : 53307217418 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the passage carefully and answer the questions :

The various arts - the plastic arts, literature and music - have each their individual evolution, with
a different tempo and a different internal structure of elements, No doubt they are in constant relationship
with each other, but these relationships are not influences which starts from one point and determine
the evolution of the other arts; they have to be conceived rather as a complex scheme of dialectical
relationships which work both ways, from one art to another and vice versa, and may be completely
transformed within the art which they have entered. It is not a simple affair of a'time spirit’ determining
and permeating each and every art. We must conceive of the sum total of man’s cultural activities as of

whole system of self-evolving series, each having its own set of norms which are not necessarily identical
with those of the neighbouring series,

Thus Poetly toda}F needs a new poetics, a teclmique of analysis which cannot be arrived at by a
simple transfer or adaptation of terms from the fine arts.

Sub questions

Question Number : 141 Question Id : 53307217419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements comprehensively articulates the centralidea of the given passage ?
(1) It talks about the consistent interdependence among the different art forms.
(2) It emphasises on the mutual exclusiveness of the different art forms.

() It suggests simultaneous coincidences and deviances in the cause of the evolution of the
different art forms.

(4) It showcases the parallels in the evolution of the different art forms.

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 53307217420 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What does the critic mean by the term “time-spirit” ?
(1) The metaphysical agency inspiring the writers and the poets.

(2) The temporal factors determining artistic creativity and production.
(3) The interrelation between time and spirituality.

(4) The influence of the writers and poets in the past.

Options :

1.1

2.2

3.3



4.4

Question Number : 143 Question Id : 53307217421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements does not logically correspond with the ideas suggested in the
given slatement ?

(1) Different art form evolve largely independently.

(2) Each art form dialectically interact with other prevailing art forms.

(3)  The prevailing art form cumulatively shape the cultural activities of the society.

(4)  The prevailing art forms necessarily share their poetics and techniques.

Options:
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307217422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is not true about the given passage ?

(1) The writer acknowledges the unique properties of different forms of arts.

(2)  He observes simultaneous coincidences and deviances among the different forms of art.

(3)  He holds that all the prevailing art forms at a particular time are strictly governed by a
common “time spirit”.

(4)  The criticism has to be based on the specific characteristics of each art form.

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307217423 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the given passage, the phrase “dialectical relationship” means :
(I) Relationship of dominance among artists

(2) Intellectual relationship between writers

(3) Mutual interaction of ideas/arts

(4) Bilateral relationship between art and artists

Options :



1.1
2.2
3.3
4.4

Question Id : 53307217418 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 53307217419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefaa § & 17 W her SR T % e o G ¢ 7
(1) 7 o e & & o9 e wem- i & ané == o 2
(2) 7 T el T &1 TR S W 9 o ¢

(3) Te T4 e &9 % Iefas o WA § O WY wam SR feeeael sted w4 g
(4) 7 Tafvm e w9 o Sefoerm H WM @ Fefild e 2|

Options :
1.1
2.2
3.3
4.4



Question Number : 142 Question Id : 53307217420 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1 T areEr g 4 d9read g2
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(2) feher FREH GRT FHerresd gersierar siR fafo & fufo
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(4) 37T H oiEeR] S SR 1 q9TE

Options :

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 53307217421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fretferfaa & & %9 o Fo Swdaa T & fou e foem o ey fet T we
(1) fafsm e w9 & yem: @ ¥ ¥ 3o e |

(2) T FHen §Y ST Wafer e T ok W afa:fora R €

(3) wefel el &Y ToRl 2 @ g i nfafafie 1 o < €

(4) vefed Fen §9 AET: STk FEE S TR 1 STER 3 ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307217422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307217423 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR T W U T e - g Hey'! (Srifaede Rer) 1 # 9 €7
(1) FETFERI § FoaHR HaY

() oEi & i alfigeh day
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Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 533072682
Question Shuffling Allowed : No

Question Id : 53307217424 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the passage carefully and answer the questions :

Comparative literature is often discussed as if it were analogous with comparative philology or
comparative religion : but it lacks, fortunately or unfortunately the academic establishment of these
disciplines. The idea that a work of literature yields a richer significance when placed alongside another,
each serving as a way of talking about the other, has more to do with the approaches of New Criticism,
and with Eliot's assertion that ‘Comparison and analysis are the chief tools of the critic’, than with
traditional literary scholarship, since intrinsic criteria of value help to shape such comparisons. This is
not to deny, of course, that an imposing family tree is available to show how a shared European culture
in medieval times (and later) took for granted what must now be painfully recreated: a culture in which
to consider Chaucer, for instance, only in an English context would have seemed as senseless as to
explain him away by reference to his French or Italian sources.

Sub questions



Question Number : 146 Question Id : 53307217425 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the given passage, the term “philology” refers to :
(1) The scientific study of language

(2) The scientific study of religion

(3) The study of philosophy

(4) The study of Polity

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307217426 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following does not currespund with the appmaches of New Criticism ?
(1) It focuses on the “words-on-page”.

3) It suggests to avoid affective fallacy.

2) It suggests to avoid intentional fallacy.
4)  Derrida is the precursor of New Criticism.

(
(
(

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307217427 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Comparison and analysis are the chief tools of the critic”. Which of the following inferences is
closest to the above statement ?

(I) Comparative Literature is a discipline without inter-disciplinarity.

(2) Comparative Literature is a discipline without theory.

(3) Comparative Literature can be truly analysed only in a monolingual society.

(4)  The critic must be aware with historicity as well as contemporaneity of the text.

Options :
1.1
2.2



3.3
4.4

Question Number : 149 Question Id : 53307217428 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How has the New Criticism affected the Comparative Literature ?
(1) Comparative Literature received legitimacy as a discipline.
(2) Comparative Literature studies adopted ethnographic methods.
(3) It gave a new approach to Comparative Literature.

(4) It made Comparative Literature nationalistic in nature.
Options :

1.1

2.2

3.3

4.4

Question Number : 150 Question Id : 53307217429 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a challenge in getting Comparative Literature established as an
academic discipline ?

(1) It does not have defined boundaries.

(2) It defines established literary scholarship.

(3) It does not have any intrinsic criteria of value.

(4)  The versatile literary taste of the people.

Options :
1.1
2.2
3.3
4.4

Question Id : 53307217424 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 53307217425 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(3) =9 = FATH
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Options:

1.1

2.2

3.3
4.4

Question Number : 147 Question Id : 53307217426 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafes o 4 = o1 = frfefasn & o & g & €7
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Options :
1.1



2.2
3.3
4.4

Question Number : 148 Question Id : 53307217427 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3
4.4

Question Number : 149 Question Id : 53307217428 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:

1.1

2.2

3.3

4.4

Question Number : 150 Question Id : 53307217429 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4





